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Where was the United Nation's climate change conference 2022 (COP 27) organized?

1. Montreal

2. Sharm-El-Sheikh
3. Nairobi

4. Cairo

1) 1

() 2

(3) 3

4) 4
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(3) 3
(4) 4
1[Option ID=13801]
2[Option ID=13802]

3[Option ID=13803]
4[Option ID=13804]

Sl. No.2
QBID:115002

Which of the following measures the net migration?

1. In-migration — Out-migration
2. Out-migration + In-migration
3. In-migration + Total population
4. Total population + Out migration
1
2 2
3) 3
(@) 4
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2. §Tel Ua9H + 3{c: Uau-
3. 3fdl: UaT + ol Sl
4. D STHEAT + <Gl UadH

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13805]
2[Option ID=13806]
3[Option ID=13807]
4[Option ID=13808]
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What is the legal age for voting and marriage for females in India ?

.14 and 18
.18 and 18
.21 and 18
.18 and 21
1
(2) 2
(3) 3
4) 4

HRd | Afgarail &1 gl & Ud fadig o1 9y sy i g 2
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=

1.141d 18
2.18Td 18
3.21 79 18
. 18Td 21
1) 1
(2) 2
3) 3
4) 4

=

1[Option ID=13809]
2[Option ID=13810]
3[Option ID=13811]
4[Option ID=13812]
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What was the sex ratio of Haryana in 2011 census ?

(4) 4

1[Option ID=13813]
2[Option ID=13814]
3[Option ID=13815]
4[Option ID=13816]

Sl. No.5
QBID:115005

Who among the following has infroduced the explanation of agricultural intensification due to population
growth?

1. Julian Simon

. Condorcet

. Simon Kuznets
. Ester Boserup
1) 1

(2) 2

b

F =




3) 3
4) 4
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1 qf%m:lf@m

ﬁmﬂm
4.§HW

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13817]
2[Option ID=13818]
3[Option ID=13819]
4[Option ID=13820]
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Since when has China adopted a two child population policy ?

. 2015
.2016
L2017
.2018
(1) 1
(2) 2
(3) 3
(4) 4

F9 9 B I Sl I D o Hifd B iR fharg 2
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1.2015
2.2016
3.2017
. 2018
1) 1
) 2
(3) 3
(4) 4

=

1[Option ID=13821]
2[Option ID=13822]
3[Option ID=13823]
4[Option ID=13824]

Sl. No.7
QBID:115007

Which among the following is the full form of '"ADL' in relation to the health and well being of the eldery?

1. Activities of Daily Living
2. Assisted Daily Living
3. Associated Daily Living
4. Assimilated Daily Living
1) 1
(2) 2
(3) 3
(4) 4
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2. &P SiifdeT § GgaRT HAl
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13825]
2[Option ID=13826]

3[Option ID=13827]
4[Option ID=13828]
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Which among the following age group has shown the highest growth rate in India during 2001 and 20117

1. 0-4 years

2. 10-14 years
3. 15-50 years
4. 60 and above

1
) 2
3) 3
@) 4
YRA H 2001 F 2011 TF 59 o1y T & vaf= g RweRia st g -
1.0-4a%
2.10-14 @9
3.15-50 @9
4. 60 T4 3T JW
) 1
() 2
@3) 3
@) a

1[Option ID=13829]
2[Option ID=13830]
3[Option ID=13831]
4[Option ID=13832]

Sl. No.9
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According to Census of India, what was the population growth from 2001 to 2011?

. 9.4%

. 17.7%
.22.5%
. 26.6%
1) 1

(2) 2

(3) 3

(4) 4

HRA B1 SHIUA, & ATHR, 2001 H 2011 b GRIA S-168AT dfest BT 1 Ward o1 2

L D =

=

.9.4%
LT
22.5%
. 26.6%
1) 1

(2) 2

(3) 3

(4) 4

b bd —

=

1[Option ID=13833]
2[Option ID=13834]
3[Option ID=13835]
4[Option ID=13836]
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Which one of the following Ministries conducts the Census operation in India?

. Ministry of Statistics and Programme Implementation (MOSPI)
. Ministry of Home Affairs (MHA)

. Ministry of Health and Family Welfare (MHFW)

. Ministry of Labour and Employment (MLE)

1

(2 2

(3) 3

(4) 4

HRd ¥ by Hared gRT S0 Uichar &t Sirdi g 2

1. GiRsI® g Ud BRIhH ST HATTY (TH3THUISE)
2. 78 HATY (THUEY) .
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4. %1 U ISR FAT0T (THUS)
1) 1
2) 2
(3) 3
4) 4

W b —

=

1[Option ID=13837]
2[Option ID=13838]
3[Option ID=13839]
4[Option ID=13840]
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QBID:115011

Which stream of migration is more dominant in India 2011?

1. Rural to Rural
2. Rural to Urban
3. Urban to Rural
4. Urban to Urban

11

(2 2

(3) 3

4) 4

YRA (2011) H {5 UHR &1 a0 S YR YT T=Eield g 2

1. JrHior 9 grejop
2. T e
3. Qg3 gy
4. e A e

1) 1
) 2
(3) 3
(4) 4

1[Option ID=13841]
2[Option ID=13842]
3[Option ID=13843]
4[Option ID=13844]

Sl. No.12
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Which of the following state of India reported highest Infant Mortality Rate (IMR) in the year 20207

1. Uttar Pradesh
2. Madhya Pradesh
3. Bihar
4. Odisha
(1) 1
(2) 2
(3) 3




(4) 4

Fafaiad O ¥ YRd & (69 9 = 2020 § 93 R 0 &R Gf9d fearg 2

1. SR U™
2. A Y

3. faER

4. &
11

2) 2

(3) 3

(4) 4

1[Option ID=13845]
2[Option ID=13846]

3[Option ID=13847]
4[Option ID=13848]
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According to the World Cities Data Booklet, 2018 published by United Nations which among the following
Indian cities have more than 20 million population.

1. Mumbai
2. Chennai
3. Kolkata
4. Delhi

1) 1

(2 2

(3) 3

4) 4

fd% WG STeT §hcic-2018 P SHR. HRd 1 B FI AT © [ordfeb] w1 20 Al g 2
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13849]
2[Option ID=13850]

3[Option ID=13851]
4[Option ID=13852]
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What is the level of institutional delivery in India, as per NFHS-5?

1. 79 per cent
. 74 per cent
. 89 per cent
. 91 per cent
1
(2) 2
(3) 3
4) 4

UA U U9 U - 5 & S 9R YR H GRIFTT [STia’t ST R &g 2

1. 79 Hfd=ra
2. 74 Wid=Id
3. 89 Hiderd
.91 Ufd=rd

) 1

b

da

=




(2) 2
3) 3
(4) 4
1[Option ID=13853]
2[Option ID=13854]

3[Option ID=13855]
4[Option ID=13856]
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What is correct about the following statements?

1. Early Neo-natal mortality > Late neo-natal mortality
2. Early neo-natal mortality < Late neo-natal mortality
3. Both are almost same
4. Nothing can be said with certainty

1

(2) 2

(3) 3

(4) 4
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(2) 2
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I

1[Option ID=13857]
2[Option ID=13858]
3[Option ID=13859]
4[Option ID=13860]
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As per the Sample Registration System (SRS) Statistical Report 2020, which birth interval has highest
percentage of live births?

1. 36+
2.30-36
3.24—30
4.18-24

1 1

(2) 2

(3) 3

4 4

AT GoftehR0T YuITell (T, 3R .09, Fikegbd RUlé, 2020 & S8R FafaRad & 3 D1 9 54 Siaid 31
Siffad Sl 1 Haifers ufad g 2

1. 36+
2.30-36
3.24-30
4. 18-24

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=13861]
2[Option ID=13862]
3[Option ID=13863]

4[Option ID=13864]




Sl. No.17
QBID:115017

A new cadre of Community Health Officers (CHOs) is trained by Government of India in Comprehensive
primary health care and posted at:

1. Sub-Health Centers
2. Primary Health Centers
3. Health and Wellness Centers
4. Community Health Centers
1) 1
2) 2
(3) 3
(@) 4

YRA PR §RT AHEAS e ARt (dlL.e=. i) & T ¢ eI B TS WUfHe W caHid
¥ UIIf&d o2 Sl ¢ 3iR 3¢ el Fgad [6a1 Sl g 2

1. 3U-WRg $%
2. Ui arey s
3, TR Ud Al g
4. GO WA g
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=13865]
2[Option ID=13866]
3[Option ID=13867]
4[Option ID=13868]

Sl. No.18
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As per the Sample Registration System (SRS) Report 2020, which of the following is the correct percentage of
neonatal deaths to infant deaths?

1.62%
2. 72%
3. 78%
4, 80%

1) 1

(2) 2

(3) 3

(4) 4

AT UofenRUT YoITell (. 3R T,) Rale, 2020 & 28R RIg) 7 B o1 # Fawiid g 9 BT B
yfcrrd feem wel & 2

1. 62%
2. 72%
3. 78%
. 80%
(1) 1
) 2
3) 3
(4) 4

=

1[Option ID=13869]
2[Option ID=13870]
3[Option ID=13871]
4[Option ID=13872]
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In the following table presence of lung cancer in smokers and non smokers is given :

Lung Cancer
S Present Absent —
Yes 90 10 100
No 20 80 100
Total 110 90 200

Find odds of lung cancer among smokers than non smokers :

1. 40
2.36
3.30
4.25
M1
2 2
3) 3
(4) 4
fafeiad e 8§ yguHEdis 3R IR-yHuFEd s § Bhs & OR & [aegHHd &1 71 § ?
L kak
T JeEE e s
Bl 90 10 100
a8 20 %0 100
Fa 110 90 200

YHUH B SR 7 B aral 8 HIR [T BT 9dl T5a 2

1[Option ID=13873]
2[Option ID=13874]
3[Option ID=13875]
4[Option ID=13876]

Sl. No.20
QBID:115020

Fertility transition occurs when wealth flow is from parents to children: which among the following concept
explains the phenomenon?

1. Quality-Quantity Trade Off
2. Intergenerational Wealth Flows
3. Income and Consumption Utility
4. Relative Income Hypothesis

1) 1

(2 2

(3) 3

(4) 4

USTd] YhHYI a9 "fed (3TH) 8idl & 519 9--UUal-yarg fHHEasd! (rar-fian Y s=i sl gidl g |
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1) 1

(2) 2

(3) 3




(4) 4

1[Option ID=13877]
2[Option ID=13878]
3[Option ID=13879]
4[Option ID=13880]
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Which among the following venn diagram describes the relationship between zoonotic disease (Z), avian
influenza (A) and common flu (F) ?

L () (D
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() () ()
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A
4. @

1) 1
(2) 2
(3) 3
(4) 4

afiRad 5 9 SH-91 97 $iRA (STUM) SHdR] 9 81 dldl §HERT (SlHe®) (2), Taae SUqUal (A) 3R
IR U (F) & Hed Heef 1 90 Hdl § 2

L (20 ()

AR
= DEE
Z
A
“{(©

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13881]
2[Option ID=13882]
3[Option ID=13883]
4[Option ID=13884]

Sl. No.22
QBID:115022

Which of the following is correct regarding design effect in sample size calculation?

1. Design effect is used to multiply calculated sample size when systematic random sampling is used

2. Design effect is ratio of sample size to population size x 100 so that sample becomes statistically valid
3. Design effect is used in stratified random sampling

4. Design effect is used in simple random sampling without replacement.

) 1




) 2
3) 3
(4) 4
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1) 1

) 2

3) 3

(4) 4

1[Option ID=13885]
2[Option ID=13886]
3[Option ID=13887]
4[Option ID=13888]

Sl. No.23
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From which language the term census is derived ?

1. German
2. French
3. Latin
4. English
11

(2) 2

(3) 3

4) 4
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g

_dfed
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1) 1

) 2

3) 3
(4) 4

[

1[Option ID=13889]
2[Option ID=13890]
3[Option ID=13891]
4[Option ID=13892]

Sl. No.24
QBID°:115024
Which of the following is most populous country in the Middle East and North Africa (MENA) regionin in 2022-

23 7

4. Turkey
1) 1
) 2
(3) 3
(4) 4
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1[Option ID=13893]
2[Option ID=13894]
3[Option ID=13895]
4[Option ID=13896]

Sl. No.25
QBID:115025

Which of the following is the cotrect equation of component method of population projection ?

1. P, . ; =P, + (Births-Deaths)
2. P, . =P, = (Births-Deaths)

3. P; . =P, + (Births-Deaths) = (Emigration — Immigration)
4.P; . 1 =P, + (Births-Deaths) + (Immigration - Emigration)
1) 1
(2) 2
(3) 3
(4) 4

= § O oF 91 gHiieu -3 Ul B Ued UGid B STl 82

L Ppg =B+ (OFH - T
2.Ppo =Py x (WH-HEG)
3.P,_ =P, + (TFH-0) « (3-999 — 3Hae)
4.P,_ =P, + (TH-T) + (UG — 3-94a9)
1) 1
) 2
(3) 3
(4) 4

1[Option ID=13897]
2[Option ID=13898]
3[Option ID=13899]
4[Option ID=13900]

Sl. No.26
QBID:115026

Sudden unprecedented fertility rate after World War IT is called:

1. Baby Boom
2. Baby Burst Syndrome
3. Demographic dividend
4. Age Heaping

(1) 1

@) 2

3) 3

(4) 4

fadia fay s & 918 W X H EFS SdUd 9f& & 51 Sl ol § 2

1. 99 §H
2. 9 9% RsW
3. SRS g AT
4. TS BifgT
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13901]




2[Option ID=13902]
3[Option ID=13903]
4[Option ID=13904]

Sl. No.27
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How many districts were covered under NFHS-5?

1) 1
(2) 2
(3) 3
(4) 4

UH.U% U9.U-5 & 3fdiid fhd- foral & afiaferd fear mar ur 2

i )
2. 606
< LT
. 548
1 1
(2) 2
(3) 3
4) 4

=

1[Option ID=13905]
2[Option ID=13906]
3[Option ID=13907]
4[Option ID=13908]

Sl. No.28
QBID:115028

Which of the following States has the lowest child sex ratio according to Census, 20117

1. Punjab
2. Haryana
3. Gujarat
4. Uttar Pradesh
)1
(2) 2
3) 3
(4) 4

ST 2011 & AR MafiRad # 9 foy sy # Fead €5e a6 2

1. Gold

- giegron

g g
4. IR Y
(1) 1
(2) 2
(3) 3
(4) 4

b b

1[Option ID=13909]
2[Option ID=13910]
3[Option ID=13911]
4[Option ID=13912]

Sl. No.29
QBID:115029

In which of the following states we find matrilineal family?

Maharashtra
disha
agaland

4. Meghalaya

L.
2.0
3.N




1) 1
(2) 2
(3) 3
(4) 4

oH (Fafaiead § 9 foy s # ArgaRiia gRar @i Bt urd g 2
1. AGRIY

2. 3fifs=m
3, MTCl S
4. HYyIay

1) 1

(2) 2

3) 3

4) 4

1[Option ID=13913]
2[Option ID=13914]
3[Option ID=13915]
4[Option ID=13916]
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QBID:115030

What is the level of unmet need of contraception in India according to NFHS-5?

1. 12%
. 9%
6%

. 16%

[N ]

=

1)1
(2) 2
(3) 3
(4) 4

UA.U% U9.0Y.-5 & SR THRIY DT 31axged] & gfd = fbU S ST &R A1 g 2

1. 12%
2. 9%

3.6%

. 16%
) 1

(2) 2

3) 3

(4) 4

=

1[Option ID=13917]
2[Option ID=13918]
3[Option ID=13919]
4[Option ID=13920]

Sl. No.31
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Which among the following is the least populated State in India?

1. Sikkim
2. Goa
3. Manipur
4. Mizoram
1
(2) 2
(3) 3
4) 4
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1. FafamH
Tar

AR
4. ForeiRe

11
(2) 2
(3) 3
4) 4

a2

1[Option ID=13921]
2[Option ID=13922]
3[Option ID=13923]
4[Option ID=13924]

Sl. No.32
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Which of the following is referring to cohort study?

. Survey of Under-weight children from January 2022 to March 2023 in India
. Survey of children on Immunization in 2022
3. Survey of 100 children from birth to death
4, Survey of maternal mortality from 2015 to 2020
1 1
2) 2
3) 3
(4) 4

Fafafaa & O frue! $1ed 3iwgga & Yay J defiid fearomang 2

URd § oHad! 2023 ¥ A 2023 A6 HHAGA! S| BT TA&UT
2022 T UfQRe0T & SR S BI Fdefur

.S Y TG TF 100 T BT GA&T

2015 ¥ 2022 T HIG-Tg BT TA&0T

1

2) 2

@) 3

4 4

2 =

N

1[Option ID=13925]
2[Option ID=13926]
3[Option ID=13927]
4[Option ID=13928]

Sl. No.33
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How many patterns of Model Life Tables were prepared by Coale-Demeney?

W b —
Lol

I
)

11
(2) 2
(3) 3
(4) 4

PHId-gA A dlferp13f S Aled & fdad Uod daR fhu 4 2

Ja el b =
= oL b W

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=13929]
2[Option ID=13930]
3[Option ID=13931]
4[Option ID=13932]

Sl. No.34
QBID:115034

According to Forest Survey of India Report 2021, how much geographical area is covered under forest in India?

. 16%
. 34%
. 24%
. 19%
(1) 1
) 2
(3) 3
(4) 4

HR P1 F-Hd&ur RUIE, 2021 & THR HRA H a1 o 3iavid a1 Hinifer &= qieferd fabar w2

W b =

>

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13933]
2[Option ID=13934]

3[Option ID=13935]
4[Option ID=13936]

Sl. No.35
QBID:115035

"For which among the following purposes Whipple's index is used?

1. To estimate the extent of digit preference
2. To estimate undercounting
3. To smooth population distribution
4. To estimate sampling bias
1) 1
2) 2
(3) 3
(4) 4

FaaRad H ST 3530 §q @I 3o BT TRl g ?

1. f&fore timy=g & A" & forg

2. 49 o Bt i & forg

3. SFEE & 9 fadru & o
4. QTR 9199 & Sficbe 8q

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13937]
2[Option ID=13938]
3[Option ID=13939]
4[Option ID=13940]

Sl. No.36
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Who among the following has proposed the concept of mobility transition?

1. Wilbur Zelinesky
2. Robert Malthus
3. Everette Lee
4. Stouffer

11

(2) 2

(3) 3

4) 4

9 § 9 forgm Aifafed ef~oem &1 Rrgra fear aur 2

[ - Oy
1. faear Sifergapl
2. S ATRY
3. Ui |l
4. TR
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13941]
2[Option ID=13942]

3[Option ID=13943]
4[Option ID=13944]

Sl. No.37
QBID:115037

Which among the following conferences has coined the term 'Development is the best contraceptive' ?

New York
Cairo
Bucharest
4. Mexico

1) 1

) 2

(3) 3

) 4

famr ts 31 THFRIYS 8. T Y [y SH1g & T 9anT fasar /y o1 2

1
2.
3.

1. g AR®
A

. ERE
BIEREa)

= o b

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13945]
2[Option ID=13946]

3[Option ID=13947]
4[Option ID=13948]
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Which among the following country has introduced ban on abortion in 20227

1. U.S.A.

2. India

3. Japan

4. Sri Lanka
11
(2) 2
3) 3




(4) 4

o & fog <= 3 a9 2022 Mo & A @ fean 2
1. 3ARDT

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13949]
2[Option ID=13950]

3[Option ID=13951]
4[Option ID=13952]
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Who has propounded social capillarity theory in fertility?

1. Arsene Dumont
2. Gary Becker
3. John Bongaarth
4. Harvey Leibenstein
(1) 1
) 2
3) 3
(4) 4

g | f&g= yoe | 9w SiuaReT @R uidortea forar ar -

1. o’ gAe
2. TR R

3. S AR
4. 814 Afgge=
1
() 2
3) 3
(a) 4

1[Option ID=13953]
2[Option ID=13954]
3[Option ID=13955]
4[Option ID=13956]

Sl. No.40
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Which among the following stages of Demographic Transition Model observed stationary stage of population?

1.Tand II
2.1 and III
3. Il and IV
4. Tand IV

1) 1

(2 2

(3) 3

4) 4

FafRId ¥ R SHRe &1 <=1 SHAthe cli-oRH Alsd 8 ¢dl S 9adl g 2

13RI

3R I
3R TV
I3RIV

(1) 1
) 2
3) 3

L R e

=




(4) 4

1[Option ID=13957]
2[Option ID=13958]
3[Option ID=13959]
4[Option ID=13960]

Sl. No.41
QBID:115041

Which among the following statements are true for Bucharest population conference?

A. Conference was held in 1984

B. India was represented by Dr. Karan Singh

C. It coined the term 'Development is the best contraceptive'
D. It was the first international population conference.

Choose the correct answer from the options given below :

1. A, B.CandD only
2. A,Band C only
3.B, Cand D only
4. A, Cand D only

(1) 1
() 2
(3) 3
(4) 4

AR ST T & aR H Fgfafad § 9 &Y 3T Il g 2

A. T8 JH T 1984 H SIS g311 T |

B. S1. 0T ¥ = 39H HRd o1 Ufdfied foar o |

C. 394 Tabra gaiad RIS g W $1 =T &1 ot |
D. Ug UYH JcRIPT S SHe o |

A feu U fa el § O Tat 3R &1 994 Hifold

1. $9d A. B, C AR D
2. Had A, B AR C
3. $Hdd B, C 3IRD
4. HIAA. C3RD

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=13961]
2[Option ID=13962]
3[Option ID=13963]
4[Option ID=13964]

Sl. No.42
QBID:115042

Which among the following demographic processes are influencing factors of ageing in a geographical region?

A. Birth Rate

B. Death Rate

C. Age-gelective migration
D. Sex Ratio

E. Marriage Rate

Choose the correct answer from the options given below :

A.B.C.D.E
.A.B. Cand D only
3. A.B and C only

4, A and B only

@) 1
) 2

2 =




3) 3
4) 4

U U & 8 JGIawl i 3R dg- (UiT) & PRa| Bl qUIiad H- arell Hafeiad 8 3 ®1H-41 sHaiRegeia uisand § 2

ATHR

B.Jg R

C. 3HTg-IT-THD UTH
D. fefurd

E. faag &

g feu Tu fawegl § O 95! IR &1 90 BifoTy -

1.A,B,C,D,E
2. $dd A, B.C 3IRD
3. PAdA. B3R C
4. HAT A IR B

1

) 2

@3) 3

@) 4

1[Option ID=13965]
2[Option ID=13966]
3[Option ID=13967]
4[Option ID=13968]

Sl. No.43
QBID:115043

According to the definition of United Nations, which of the following option correctly represents the Census?

A. Publication
B. Evaluation
C. Analysis

D. Compilation
E. Mapping

Choose the correct answer from the options given below :

1. D, C and E only
2. A, Cand D only
3. A.B,CandD only
4.A,C,DandE only
1) 1
2) 2
(3) 3
(@) 4

Y Y B URHTY & SER FafRad § 3 D19 9 fdbed SR 61 981 9 YT P & 2

A. UHIRHE
B. HAIH
C. fa=aiwur
D. Ybhd-

E. A=

i fou U f[ddh el 1 9 T8l 3R &1 98- Hifole ;

1.$9d D, C 3RE
2. FHad A, C 3R D
3. %dd A, B, C 3R D
4. HIAA. C.DIARE

(1) 1
) 2




3) 3
4) 4

1[Option ID=13969]
2[Option ID=13970]
3[Option ID=13971]
4[Option ID=13972]

Sl. No.44
QBID:115044

Which among the following information are available from NFHS 5?

A. Nutrition

B. Domestic violence

C. Household income

D. Death due to accidents
E. Antenatal check up

Choose the correct answer from the options given below :

1. A, Band C only
2.B.Cand E only
3. A.Band E only
4. A, Band D only

1) 1
(2) 2
(3) 3
4) 4

frofofad # G o1 O GETe T 0% T9.09 -5 9 3Uas § 2

A. TINOT

B. WX fgar

C. URAR &I 31

D. gHe-Ie{l & HRU HY
E. W9d-gd Sid

I feu U fap el § O Tet 3R &1 994 Hifolg

1.Pdd A B3R C
2. HddB. C 3R E
3. Hdd A B 3R E
4. HAA A, B AR D

) 1

() 2

(3) 3

4) 4

1[Option ID=13973]
2[Option ID=13974]
3[Option ID=13975]
4[Option ID=13976]

Sl. No.45
QBID:115045




Health and Wellness Centers (HWCs) are envisaged to deliver which of the following services?

A. Maternal and Child Health

B. Mental Health

C. Eye and ENT care

D. Non-communicable diseases

E. Palliative and Rehabilitative Care

Choose the correct answer from the options given below:

1. A and B only
2. Aand D only
3. A, Band C only
4.A,B.C,Dand E
1) 1
(2 2
(3) 3
(4) 4

R Ud DA bl (T S H1.) i [ fob=1 Harefl Pt Yera it & fo g e &1 713 ot 2

A. HIgd Ud 91 WY

B. OHRY® W

C. 99 TE 3. TA.CL. @Y

D. TIR-T=R! st

E. SUNH® Ud W0 a1y At qaurd

i f3U 71U fa el © O el 31 &1 99 DiioIu :

1. $dd A IRB

2. FIAAMRD

3. Had A, B3R C

4. HdAA. B, C.D3IRE

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13977]
2[Option ID=13978]
3[Option ID=13979]
4[Option ID=13980]

Sl. No.46
QBID:115046

Which of the following elements are related to Bongaart's proximate determinants of fertility?

A. Proportion married

B. Proportion using contraceptives
C. Incidence of abortion

D. Coital frequency

E. Involuntary infecundity

Choose the most appropriate answer from the options given below:

1. AB, C and D only
2.B.C.Dand E only
3.A.C.Dand E only
4. A.B. CandE only

1) 1

2) 2

3) 3

4) 4




AfaRad O ¥ ®1H 9 dd srTed & Yo Yied & o FyRe! 3§ geiia g 2

A. fqarfgd garud

B. THFRIY®] & 3991 BT FHHI
C. UG B geAT

D. ®igcd (TN P! aRIEIR]

E. ST aigdA

i fu e faw et 5 9 999 Sugad SR &1 99 Hifeid -

1.Hdd A, B.C 3R D
2.%ddB, C,D ARE
3. %IAA, C,.DIARE
4. PTAA, B.C ARE

1 1

) 2

3) 3

@) 4

1[Option ID=13981]
2[Option ID=13982]
3[Option ID=13983]
4[Option ID=13984]

Sl. No.47
QBID:115047

Which among the following are required to calculate labour force participation rate?

A. Age wise distribution

B. Workers by age

C. Non-workers by age

D. Persons secking work by age

E. Persons not available for work by age.

Choose the correct answer from the options given below:

1LAB.C.Dand E
2.B.C.Dand E only
3.B.C and D only
4. A.B and D only
(1) 1
@) 2
3) 3
4) 4

SHTTRITeRT T U &% @1 70T § Fafafad & 3 ! siexadar eril ¢ 2
A. 3TYaR faarur
B. 40 &1 g ol
c.ﬁ?.ng—&ﬁmaﬁ
D. B & S5 adiad & g ai
E. B §q g & SR Afaad] & Sudeidl

i fu T fas el © ¥ Wel TR BT I8 DI ;

1.A.B.C.D3RE
2.%ddB, C,D ARE
3.%dd B, C 3D
4. HAAA, B3ARD

1

) 2

3) 3

@) a

1[Option ID=13985]
2[Option ID=13986]
3[Option ID=13987]
4[Option ID=13988]

Sl. No.48
QBID:115048




Who among the following are optimistic population thinkers?

A. Malthus

B. Ester Boserup
C. Julion Simon
D. Enke

E. Simon Kuznets

Choose the most appropriate answer from the options given below:

1. A only
2. B and C only
3. Aand D only
4. E only

1) 1

(2) 2

3) 3

(4) 4

frgfafaa & O feog 2mmard! S faas AT S g 2

i faU 71U fa el © 9§ Ul 3k 1 99 DIl ;

1. ddd A
2. %ad B3R C
3. Had AR D
4. BAdE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13989]
2[Option ID=13990]

3[Option ID=13991]
4[Option ID=13992]

Sl. No.49
QBID:115049

Which of the following is net part of census enumeration of marital status in India?

A. Never married

B. Widowed

C. Love marriage

D. Live in Relation

E. Divorced/separated

Choose the correct answer from the options given below:

1. Aand E only
2. B and E only
3. Cand D only
4.D only

1y 1

(2) 2

(3) 3

(4) 4




R4 § [qarfes Rufa t smomn § Fefefea § 3 o sy e Tgi glar g 2

A. & fqarg 78! foar
B. faar

c. uH faare

D. fe/a 59 RavH

E. delld/JYd 61

=1 feu Tt fae el © 9 9g! 3R &1 94 B :

1. Had A IRE
2. $dd B AR E
3.%aaCc ARD
4. $adD

1

() 2

@3) 3

@) a

1[Option ID=13993]

2[Option ID=13994]

3[Option ID=13995]
4[Option ID=13996]

Sl. No.50
QBID:115050

Which of the following components are required for measuring Body Mass Index (BMI) ?

A. Blood Test

B. Height

C. Weight

D. Waist circumference

E. Upper arm circumference.

Choose the correct answer from the options given below :

1. A and D only
2. C and E only
3. B and C only
4.D and E only

1) 1

2) 2

(3) 3

(4) 4

4151 A1 So o (SIUHSHTZ) & HIYA o FUfiRad | 9§ {6 gl &l Sevd gkl g 2
A. ad TRIef0

B. @HS

C. HR

D. HH DI giRfY

E. SR P arofsit i aRfe

i fau U fa el © 9§ Hel 3R ol 99 DIl ;

1.$dd A3RD
2. $ad C 3R E
3. HadB AR C
4. H9AD 3RE

1) 1

(2) 2

3) 3

(4) 4




1[Option ID=13997]
2[Option ID=13998]
3[Option ID=13999]
4[Option ID=14000]

Sl. No.51
QBID:115051

Who among the following are pessimistic thinkers in Population studies?

A. Robert Malthus
B. Karl Marx

C. Ester Boserup
D. Machiavelli

E. Botero

Choose the correct answer from the options given below:

1. A, B, C and D only

2.B, C and D only

3. A, Dand E only
4.A,B,C,DandE

1) 1

) 2

(3) 3

(4) 4

fgfafad & O o saven srerg d&y § FARrmae] [ids g 2

A.JEC AT
B. &Id AR
C. TR §1ERY
D. Afpardea
E. dlcx

T faU 70 fa el © 9§ Yl 3k ol 99 DIfolu

1.$ad A, B. C 3R D
2. $HdA B, C 3IRD

3. HAdA, D 3ARE

4. HIAA. B, C,DIRE

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=14001]
2[Option ID=14002]
3[Option ID=14003]
4[Option ID=14004]

Sl. No.52
QBID:115052




Which among the following are probability sampling?

A. Simple Random
B. Snowball

C. Stratified Random
D. Convenience

E. Quota

Choose the correct answer from the options given below :

1. A, C and B only
2. B and C only
3.B, Cand E only
4. A and C only

1) 1

(2) 2

3) 3

(4) 4

frafaRad # 3 SH-3 s gic== € 2

A. IR Tef=5h
B. Widid

C. WRIPd a5
D. gfayroiid

E. PleT (Fadrsn

i faU 71U fa el © 9§ Ul 3k 1 99 DIl ;

1. $Td A, C 3R B
2. Had B 3R C
3. $Hdd B, C 3R E
4. HIAA3MRC

(1) 1
) 2
3) 3
(4) 4

1[Option ID=14005]
2[Option ID=14006]
3[Option ID=14007]
4[Option ID=14008]

Sl. No.53
QBID:115053

Global Hunger Index (GHI) score for each country is caleulated by combining which of the following indicators ?

A Under nourishment in population
B. Child stunting

C. Child wasting

D. Child mortality

E. Under weight

Choose the correct answer from the options given below:

1. Aand E only
2. Aand B only
3.A.Band C only
4. A.B. Cand D only
1y 1
(2) 2
(3) 3
(4) 4




q® ¥ & TAad §R Soad (GIUHSTS) PR & FHiad [0 ae & Ay 9 T0H1 &1 & g 2

A, S H HUN

B. S0P &I fawEd g
C. TTE P EEl

D. S[a®

E. H g9 &1

=1 feu Tt fae el © 9 9g! 3R &1 94 B :

1. Had A IRE
2.%dd A IR B

3. HIAA. B IHRC
4. PTAA, B, C. 3R D

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=14009]
2[Option ID=14010]
3[Option ID=14011]
4[Option ID=14012]

Sl. No.54
QBID:115054

Which of the following characteristics are associated with linear regression model?

A. The errors have a normal distribution for each set of values of the independent variables
B. Correlation among independent variables should not be high.

C. Variance of errors is constant for all values of independent variables

D. Errors are independent of one another

E. The errors have the expected (mean) value of non-zero.

Choose the correct answer from the options given below:

1. A, C.,D and E only

2.B, C,D and E only
3. A, B.Cand E only
4. A, B, C and D only

1) 1

(2) 2

3) 3

(4) 4

frrafelad # 9 21 9t faRward YEs uicrme el @ise) 9§ dsfid @ 2

A. FfeTi 1 WA =R & AH & YdD Y= & [l T FH1=7 f[darul gran g |
B. WdA IR & &9 YgHdy 3= gl g1 91igy |

C. ATl &1 FWRU WA TR & GHi 7 & g FRAR gIar g |

D. Ffi UG Y WA gidl @ 2

E. 3¢l &1 UiRId IR-YA A BT © |

I fau T fas el § O et 3R &1 994 Bifolu

1.BAd A, C,D3RE
2. $9dB,C,D 3R E
3. Had A, B, C 3R E
4. $HdA A, B, C 3R D

1)1
(2) 2
(3) 3
(4) 4




1[Option ID=14013]
2[Option ID=14014]
3[Option ID=14015]
4[Option ID=14016]

Sl. No.55
QBID:115055

Which of the following is net part of the Gross National Income (GNI)?

A. Depletion and degradation of national resources

B. Depreciation of manufactured assets

C. Value of unpaid domestic labour

D. Accounting for regional or national differences in purchasing power
E. Net receipts of income from abroad.

Choose the correct answer from the options given below:

1. A, B.D and E only
2.A,C,DandE only
3. A, B.Cand E only
4. A, Band C only

1

() 2

(3 3

(4) 4

frefefad | 9 o1 9 gbd AP 31 (SIL.T.3M13.) b TR ¢ 2
A. P 1T B ATIUIT SR b H0T

B. (i ufvemafiai &1 g

C. TR YD BT el

D. Y e H & A1 AP 3R] & g g1

E. [dc=r ¥ 3mg &1 frad wriermi

i f3U 70 fa el © O Ul 31 &1 99 DioIu :

1. $9d A, B, D 3R E
2. FTAA. C, D 3RE
3. $Hdd A, B, C 3R E
4. HIAA. B3R C

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=14017]
2[Option ID=14018]
3[Option ID=14019]
4[Option ID=14020]

Sl. No.56
QBID:115056

Which of the following option correctly defines Infant Mortality Rate?

1. The number of deaths below one year of age per 1000 live births

2. The number of deaths per 1000 live births of children under the age of 5 years
. Death of infants before the age of 6 months

. Death of children under age of 2 years

1) 1

(2) 2

(3) 3

(4) 4

S N




frafafad § o= w1 faee R goges & 98t aRumw g 2

1. U@ a8 3T 3G T &1 FRIR1sh o5t gog T &1 v 1000 Sifad e o= @1 Sem § srurd
2. Ufd 1000 Uf9 a9 9§ FH T &1 TG J GdD] P1 3U
3. TS IR Y 74 oo Y UG B J&=A
4.2 99 Y Id 91 B G
1) 1
2) 2
(3) 3
(4) 4

1[Option ID=14021]
2[Option ID=14022]
3[Option ID=14023]
4[Option ID=14024]

Sl. No.57
QBID:115057

Which among the following are considered for the anthropometric measurement of 0-4 years children according
to the comprehensive National Nutrition Survey (NNS)?

A. Height

B. Weight

C. Mid arm circumference
D. Upper-arm circumference
E. Waist circumference

Choose the correct answer from the options given below;

1. A, Band C only
2.B, Cand D only
3. A.Band D only
4.A,B,C,DandE

1) 1

(2) 2

3 3

@) 4

fFrafefad & 3 69 0-4 af & 9= & IRIRS A (@idafes fioRde) 8 faar fear S -
A daS

B. HR (d91)

C. fore 3 uikie
D. 3= ¥ aife
E. oHR & gRIY

i fau U fa el © 9§ Hel 3R ol 99 DIl ;

1.$dd A B3R C
2. $hdd B, C 3R D
3. HIAA. B AR D
4. A.B.C.D3RE

) 1

() 2

(3) 3

4) 4

1[Option ID=14025]

2[Option ID=14026]

3[Option ID=14027]
4[Option ID=14028]

Sl. No.58
QBID:115058




What are the components of Civil Registration System (CRS)?

A. Birth

B. Death

C. Morbidity
D. Migration

E. Employment

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. Aand D only
4.D and E only

1) 1

2) 2

(3) 3

(4) 4

fafad dofieor yonell (R T S 9ch DU 6 2

A S
B. 7Y
c. faart
D. Y4+
E. USSR

i faU 71U fa el © 9§ Ul 3k 1 99 DIl ;

1.%dd A 3R B
2. HadB AR C
3. Had AR D
4. HIAD 3ARE

) 1

) 2

(3) 3

4) 4

1[Option ID=14029]

2[Option ID=14030]

3[Option ID=14031]
4[Option ID=14032]

Sl. No.59
QBID:115059

Which of the following concepts are related with morbidity measures?

A. Case-fatality rate

B. Age-specific death rate
C. Cause-specific death rate
D. Incidence rate

E. Prevalence rate

Choose the most appropriate answer from the options given below:

1. A. D and B only
2. A.D and E only
3.D.E and B only
4.D.E and C only

1y 1

(2) 2

(3) 3

(4) 4




FafafEa & ¥ o9 aw 3o 3yl 9 9sfia g 2

A TR0 S0 &
B. Y fARIg gg =®
C. PR fafy gg X
D. 3IUId &R (3189 ¥0)
E. WEldd &

=1 feu Tt fae el © 9 9g! 3R &1 94 B :

1. Hdd A, D 3R B
2. PdA A, D IIRE
3. $gAD, E IR B
4.%9ED,E AR C

1 1

) 2

3) 3

@) 4

1[Option ID=14033]

2[Option ID=14034]

3[Option ID=14035]
4[Option ID=14036]

Sl. No.60
QBID:115060

Health Management Information System under National Health Mission (NHM) is used for which of the
following purposes?

A. For performance assessment of activities

B. For calculation of adverse effect of immunization
C. For preparation of monthly progress report

D. For ranking of health facilities

E. For assessing training load in the district.

Choose the correct answer from the options given below :

1. A and B only
2. A, Band C only
3.A,BCandD only
4. A B.C.DandE
1) 1
() 2
(3) 3
(4) 4

P T R (TTUEUH) & Sfiid Faffad fba Ie2al 8 W Yeie -1 orTell 1 WarT fba
ST g 2

A. feharetarl & fsqre sfiehe 84

B. UfA&(01 & Ufdded UHId 1 70T 63 5
C. AR Wl RUIC B daR &R 8

D. WA giae3{f & b1 gd

E. forefT # U140 4R & 3MTheld 3 o

i fau 71t fash eyl # 9 Tgt IR &l 994 BT ;

1. $dd A 3R B

2. Had A, B3R C
3. $dd A, B, C 3R D
4.A.B,C,D3RE

) 1
) 2




3) 3
4) 4

1[Option ID=14037]
2[Option ID=14038]
3[Option ID=14039]
4[Option ID=14040]

Sl. No.61
QBID:115061

Which of the following are continuous variables?

A. Height in meters
B. Weight in kg

C. Income in Rupees.
D. Age in years

E. Caste group

Choose the correct answer from the options given below:

1. Aand B only

2. ABand C only
3.A,B,Cand D only
4. A, Band E only

1) 1
(2) 2
(3) 3
(4) 4

fafaRad 5 9 o1 oFdvd =R@ERgdd) g 2

A HRI H S
B. UR fhamm o
C.3ugi H 3
D. a4 H 31g

E. ST 998

O

i faU U [dspedl # 9 a8 Iugad IR &1 98 DIfY ;

2. Hdd A, BT C
3. $dd A B.CUID
4. $HIAdA. B.UJE
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=14041]
2[Option ID=14042]

3[Option ID=14043]
4[Option ID=14044]

Sl. No.62
QBID:115062




Which of the following are part of Mathematical method of population projection?

A. Exponential growth rate
B. Arithmetic growth rate
C. Geometric growth rate
D. Lexis diagram

E. Gompertz Curve

Choose the most appropriate answer from the options given below:

1. B. C and D only
2. A.B. Cand D only
3.A.B.CandE only
4, A.B.D and E only
1 1
(2) 2
3) 3
(4) 4

frafafad & 9 o S-ge 9aau & 1y gefd & 4 E 2

i fu e faw et 5 9 999 Sugad SR &1 99 Hifeid -

1. Had B. C 3R D

2. PdA A, B.C IRD
3. %IAA, B.C ARE
4. PTAA,B.D3IRE

1) 1
) 2
3) 3
(4) 4
1[Option ID=14045]
2[Option ID=14046]

3[Option ID=14047]
4[Option ID=14048]

Sl. No.63
QBID:115063

Which of the following elements are considered as proximate determinants of urban transition?

A. Reclassification

B. Natural increase

C. International urbanward migration
D. Internal rural to urban migration
E. Delimitation

Choose the correct answer from the options given below:

B. C.D and E only
A, C,D and E only
A.B.D and E only

. B, Cand D only

I
2.
3.

4.
1) 1
) 2
3) 3
(4) 4




g WehHUT & ford fFwfeiad ddl &l 3= MuRe A Sar & -
A. GIaH R

B. W {dP deldd
C. cRTgT 2gd vary
D. 3ffdRe grior ¥ Wgdl yary

i faU 71U fass el © O Ul 3R &1 99 DiiIu ;

1.$dd B, C,D 3R E
2. FTA A, C,D 3R E
3. %dd A, B.D 3R E
4. HdAA. B, C 3R D

11
(2) 2
(3) 3
(4) 4

1[Option ID=14049]
2[Option ID=14050]
3[Option ID=14051]
4[Option ID=14052]

Sl. No.64
QBID:115064

Which among the following are quantitative methods of data collection?

A. Focus group discussion
B. In-depth interviews

C. Household interview
D. House listing

E. Case study.

Choose the most appropriate answer from the options given below:

1. A, Cand D only
2.B, C and D only
3. Cand D only
4. A, Band C only
1) 1
) 2
3) 3
(4) 4

frgfatad § 9 oF O Se1-5ugul & AETHS YGiaar g 2

A. BIHY g =i
B. TG FI&ThR
C. URAR T &b R

D. TR T JAIHR0T

E. $Y-3egq

(ol

i faU U fdspedl # 9 a8 I9gad IR &1 98 DIfY ;

1.HdA A, C 3R D
2. $Had B, C 3R D
3. $Had C 3R D

4. HIAA. B3R C

1)1




(2) 2
3) 3
(4) 4
1[Option ID=14053]
2[Option ID=14054]

3[Option ID=14055]
4[Option ID=14056]

Sl. No.65
QBID:115065

Which of the following elements are related to the impact equation proposed by Ehrlich and Ehrlich (1990)?

A. Resource base

B. Technology

C. Emission of Greenhouse gases
D. Population

E. Affluence

Choose the most appropriate answer from the options given below:

1. B, C, D and E only
2. A,B.Dand E only
3.A B.CandD only
4.B, D and E only

1) 1

(2) 2

3) 3

(4) 4

Tgferd 3R Uglerd (1990) GRT Ulfad THId THi®R0r & Jao # FafaRad # 9 & I dd defdd ol @ 2

A. GIIYA 3R

B. Ulenfirat

C. U3y 4] &1 Il
D. S EET

E. Ui

i faU U [dsedl # 9 a8 I9gad IR &1 98 DIfY ;

1. $9dB,C.D AR E
2. %dd A.B.D 3R E
3. %dd A, B.C 3R D
4. $9dB,D 3RE

(1) 1
(2) 2
3) 3
4) 4

1[Option ID=14057]
2[Option ID=14058]
3[Option ID=14059]
4[Option ID=14060]

Sl. No.66
QBID:115066




Match List I with List IT

LIST I LISTII
A_ |Theory of Density 1. [Pearl and Reed
B. |Theory of Logistic Curve II. Boserup
C. |Agricultural mntensification 111, [Thomas Sadler
D. |Surplus army of labour IV, [Karl Marx

Choose the correct answer from the options given below:

ATV, B-IILL. C-I1. D-I
. A-IIIL B-IL. C-II. D-IV
A-lL B-II. C-IIL. D-IV
AL B-IIIL. C-L. D-IV
1) 1
(2) 2
(3) 3
(4) 4

el 191 gl 11 1 e Sifore

[ SR

e Lo

e 1 'ﬁ?ﬁn

T (Tedn) faaia I [WuEids

TTelRed - &l THaid 1. |[§E™

B TEdl 0. |49 98w

=l el i e

7] 1 =y AT vV [@-Ee

fafefad fawedl & 9 UE! 3R &1 907 I

- A-IV, B-II. C-II. D-I
AL B-I. C-I1. D-IV
-A-L B-II. C-IIL. D-IV
A-II. B-III. C-1. D-IV

R

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=14061]
2[Option ID=14062]

3[Option ID=14063]
4[Option ID=14064]

Sl. No.67
QBID:115067

Match List I with List IT

LISTI LISTII
A |Tuberculosis I. |IDTP
B. [Pertussis IT. pME
C. |COVID 19 111 BCG
D. Measles IV |[Covaxine

Choose the correct answer from the options given below:

1. A-I. B-III, C-IV, D-II
2. A-II, B-1IV, C-II1. D-I
3. A-III. B-1. C-IV, D-II
4. A-IV. B-1, C-III. D-II

11

(2) 2

(3) 3

(4) 4




G 11 Gl 119 e $ifog

T 1 Tt I
A [qUic® (&R I [Erm
B. |orcirard! @it 1L [THUHAR
C. |®lfige-19 oL &
D. [@W] V. [eldaE

FafeRad f el d O Tgt 3R &1 99 Hifoe ;

1. A-I, B-III, C-IV, D-1
2. A-II, B-1V, C-II1, D-1
3. A-1I1, B-1. C-IV, D-II
4. A-IV, B-1, C-III, D-II

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14065]
2[Option ID=14066]
3[Option ID=14067]
4[Option ID=14068]

Sl. No.68
QBID:115068

Match List I with List IT

LISTI LISTII
Coale-Demeney North
A [Patterns Model Life I. |Average mortalitv pattern
Table
B South Pattern Model it [Low infant and old-age mortality but by
" [Life Table " [hugh adult mortality
. |East Patberns Model High mortality unde_r 5 vears of age,
C. T 6= Table III. pa.t'ri-:u_iarl'_\-' among mfan‘t;= low adult
Imortality and high mortality over age 0.
D [West Pattern Model Life v [High infant and high old-age mortality
" |Table " |eelative to childhood and adult rates.

Choose the correct answer from the options given below :

1. A-II. B-III. C-IV. D-1
2. A1 B-IIL. C-IV. D-II

3. A-IIL, B-IV. C-1, D-II
4. A-IV, B-IIL, C-II, D-I
1) 1
(2) 2
3) 3
(@) 4
il 191 gl 11 ¥ [ Sifere
il Geill
Pic SHHI SR Wiaey
A lter ety | - [T AR
g [G&T HiTET Hisd [ R SR G- & o] B
" [ofTa ROl " [ggez fhd 9= 90 Hdad
— 5 N B 1Y &7 Aid [aRIY B (RIS
B Uﬁﬁ ; HigESle | H 3= G TR 60 TY B MY & W
& Al R 395! H g g X
D, [FIEA TidET HIsT 1 [FTCITER SR T Sfad BT SfugT
" [ofta ifvuft " [Rrait SR gai | S Bee & 5
FrafaRad famedl & O Ugl 3R &1 98- BT
1. A-II, B-IIL, C-IV, D-I
2. AL, BHIL C-IV, D-II

AL B-TV. C-I. D-II
- A-IV. B-II, C-II. D-I

1)1

e Lo




) 2
3) 3

(4) 4

1[Option ID=14069]
2[Option ID=14070]

3[Option ID=14071]
4[Option ID=14072]

Sl. No.69
QBID:115069

Match List I with List IT

LISTI LISTII
A ld(x, n) I. |Number of deaths in age interval (x to x+n)
B I con) m I\__liglber of person-vears lived in age mterval (x to
C. |IT (x) I11. |Expectation of life at age x and older
D e (x) IV, |[Number of person-vears lived at age x and older.

Choose the correct answer from the options given below :

AL B-ILL C-IV. D-III
. A-I B-III. C-II. D-IV
CA-LL B-ILL C-IIIL D-IV
ATV, B-IILL. C-1. D-IT
(1) 1
(2) 2
3) 3
(4) 4

el 131 ol 11 1 T Sifore

Lo bo

el 1 Tt 11
A [ L $%§$Wﬁ
B. [L(x.n) I ;{I!%&l?ﬁ:{ﬁ Gﬂ%—f;ﬁﬂg@ﬁ
¢ frw m %ﬁ?aw T B Sia-
D v %ﬂ%ﬂjﬁ%@%ﬁgg%
fFrafifed faaed & 3 e S s 9gT #IR -

1. A-L B-IL C-IV, D-IIT
2. A-L B-III, C-I1. D-IV
3. A-L. B-IL. C-IIL. D-IV
4. A-IV. B-III. C-1. D-II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14073]

2[Option ID=14074]

3[Option ID=14075]
4[Option ID=14076]

Sl. No.70
QBID:115070




Match List I with List IT

LISTI LIST IT
Al 1. [Index of proportion married
B |lg II. |Index of non-marital fertility
C. |y III. |Index of marital fertility
D. [l IV. |[Index of overall fertility

Choose the correct answer from the options given below :

1. A-1I, B-1, C-III, D-IV
2. A-1V, B-1II, C-11, D-1
3. AL B-1I, C-1V, D1
4. A-1. B-1I, C-III. D-IV

) 1
() 2
(3) 3
) 4
YT 161 Gl 11 8 e Sifey
el T I
K [ [daTE® St &
' ERURCEC
B. g I1. R : L
: Rkt
C. Iy 10T : A%
D. [m IV, 99 UoiH-&R gaaia

fFafeRad fad el & 9 Tl IR &1 999 B

1. A-II, B-1, C-III. D-IV
2. A-IV, B-III. C-I1. D-1
3. A-III. B-II, C-IV, D-1
.A-1, B-1I, C-II1. D-IV
1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=14077]
2[Option ID=14078]
3[Option ID=14079]
4[Option ID=14080]

Lt

Sl. No.71
QBID:115071

Match List I with List I

LISTI LISTII
. [Fertility Measures I |SMAM
Mortality Measures I [Case-fatality rate

Morbidity Measures II1. JASDR

o|o|=|=

. [Nuptiality Measures IV. [Child-women ratio (CWE)

Choose the correct answer from the options given below:

1. A-IV, B-IIL. C-II. D-1
2. AL, B-L. C-IV. D-III
A-l. B-II. C-III. D-IV
A-L B-IIL C-IL D-IV
1) 1
(2) 2
(3) 3
(4) 4

e s




il 191 gl 11 ¥ [ Sifere

A1 T IO
A [god1 Ae | 1. [caueegH
B. (A AIU®  |IL RITHY &X
C PRI ANG |11 [NTTSIHR
D. %ar%wwn.mm
fafeiad faeedl § ¥ 9ol 3Tk &1 98- BIfoU -

1. A-IV, B-IIL. C-II. D-1
2. AL B-I. C-IV. D-III
3. A-1. B-IL C-III. D-IV
4. A-L. B-11I. C-IL. D-IV

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=14081]
2[Option ID=14082]
3[Option ID=14083]
4[Option ID=14084]

Sl. No.72
QBID:115072

Match List I with List I

LISTI LIST II
A |IMR I. [Measure of infant deaths
BN i m i;:ra;sure of mfant death of less than 29
C General Marital 1 M-easure of the number of stillbirths and
* |[Fertility Rate " |infant death less than 7 days

[Peri-natal Mortality - [Measure of the number of live births in a
D. > v : i

[Fate [vear to married women

Choose the correct answer from the options given below :

1. A-I. B-II. C-IV. D-III

2. A-I, B-IL C-IIL. D-IV

3. A-IL B-I1. C-I. D-IV
A

4. A-IV. B-I. C-IL D-III
1) 1
(2) 2
3) 3
@) 4
el 11 gl 11 ¥ [ Sifere
1 T I
A |33 TH 3R 1. |Rig g ol AT
B. [Fa9d Hg =X 11 29 & ¥ ®H o RIE-HG
c [FF dared ue | [FA A 7 A U PH & R @
R " [Re @1 A
. [[dartea afeersi H TP oy @ fafy
D. |-ed IR V- [ e o e ) @ g
fafafad famel & I 981 TR &1 997 DI -

1. A-I. B-II. C-IV. D-III
2. A.LL B-II. C-III. D-IV
3. A-IL B-IIL. C-LI. D-IV
4, A-IV. B-1. C-II. D-IIT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14085]
2[Option ID=14086]




3[Option ID=14087]
4[Option ID=14088]

Sl. No.73
QBID:115073

Match List I with List IT

. i LIST
LIST I (Demographic Perspective) TI (Proponents)
A Increasx_ng nanon_a.l wealth depends on a growing I
lpopulation that stimulate export trade.
B. [Wealth of nation 1s i land, not people II. lbn Khaldun
c [Doverty is not the natural result of population 1L IMercantilism
jgrowth
[Population growth 1s inherently good as 1t
D. |lincreases occupational specialization and raises IV. [Physiocrats
income.

Choose the correct answer from the options given below :

1. A-IV, B-1II. C-1. D-II
2. A-III, B-IV, C-I1, D-I
3. A-III, B-IV, C-1, D-II
4. A-IV, B-1, C-III, D-II

1) 1

(2) 2

(3) 3

(4) 4

G 11 YT 11 8 e Sifey

1 1
RTPTT HU H gl o188 D1 gl W
A, [ e & o Fofd R & ufa 1 @[T
m%l _
- %@gﬁqﬁﬁﬂ$mﬂiﬁ%ﬂﬁﬂ€:{ Y Sp—

C. %TI e gl o1 4 [ I11. [@rfirgarg

SEET gis WIS &9 U 3] glal
D. [¢ Hifé J¢ AEUR® ARPAIH & | V. [Idladaare]
HIAT B AR AT |

fFrafefad faded! # 9 98l IR &1 99 B ;

CA-TV, B-111L C-1, D-II

. A-III B-1V, C-I1, D-I

. A-III. B-IV, C-1, D-II
4. A-IV. B-1, C-III. D-II

(1) 1

(2) 2

(3) 3

4) 4

1
2
3

1[Option ID=14089]
2[Option ID=14090]
3[Option ID=14091]
4[Option ID=14092]

Sl. No.74
QBID:115074




Match List I with List IT

LISTI LISTII
A [RMNCHA 1. |Mental Health and Substance Abuse
B [Janani Shishu Suraksha o Screening for defects at birth, diseases,
" [Karvakram " |deficiencies and development delavs
C. %i‘aﬁ;ﬁ;al Roachng ITT. |Continuum of care
D. I;i;l;r}gz iﬂ:frmn IV [Free and cashless delivery

Choose the correct answer from the options given below :

1. A-III, B-IV. C-I. D-II
2. A-IV. B-III. C-1. D-IT
3. A-IV, B-III. C-II. D-I
4. A-III. B-IV. C-II. D-1

(1) 1
(2) 2
(3) 3
4) a

111 g1 11 § i oy

T 1 ?fﬁnl

A PREEESEL E %ﬁfﬁﬁw&@wwzﬁ
B. (ST iy TRan drisd I Wﬁ ”f. S?RHF@W;%@‘;%%
C. 1P SIa Wl B H 11T EayTa @1 9aa®

D. RTPH B3R WA dRPH | IV.[F:3[® U4 Adaziod Y

Frafoied faeedl & O Uel 3R &1 947 S

1. A-III. B-IV. C-I. D-II
2. A-IV. B-III. C-I. D-II
3. A-IV. B-III. C-II. D-I
4, A-III. B-IV. C-II. D-I

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=14093]
2[Option ID=14094]
3[Option ID=14095]
4[Option ID=14096]

Sl. No.75
QBID:115075

Match List I with List IT

LISTI LISTII
A |Dispersion I |Analysis of variance
B. |Change in outcome variable II. |Regression analysis
C. |Association of vaniables 111 |Standard deviation
D. Measure relationship IV, |Chi-square test

Choose the correct answer from the options given below :

1. A-IIT, B-II, C-IV, D-1
2. A-III, B-II, C-1. D-IV
3. A-II, B-1II, C-1. D-IV
4. A-II, B-1IL, C-IV, D-1

1) 1

(2) 2

(3) 3

(4) 4




G 11 Gl 119 e $ifog

T I Tt I
A @A fSaudE) I [HER0 & [y
B. [aROmH TR H URgdH| 1. Mo (92w
c. [EHaETd L [ e
D. [d§yamH IV |[@7 W o
FgfiRad [deed O 9 el IR &l 999 B ;
1. A-ITTI, B-II, C-IV, D-1
2. AT B-I1, C-1. D-IV
3. A-II, B-1I1, C-1, D-IV
4. A-TI, B-III, C-IV, D-1
1 1
() 2
3) 3
4) 4

1[Option ID=14097]
2[Option ID=14098]
3[Option ID=14099]
4[Option ID=14100]

Sl. No.76
QBID:115076

Arrange the following measures from higher to lower value.

A. GRR
B.TER
C. TMFR
D.NRR

Choose the correct answer from the options given below:

BDCA

o

1.
2.
3

i !
Uf')U

B,
B,
A,

IS
UIJU’_‘

(1) 1
() 2
(3) 3
(4) 4

FafaRad 7199 & SR O FYa 99 & § gateud Sifo |

A. Sil.3R.3(R.
B. ¢1.UW. 3R,

C.dlua.U% 3R,
D. . 3[R, 3[R,

A feu U fa el § O Tat 3R &1 994 Hifold

C,A

mwn—»

PR
wo 0o
ap P
ond

-

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=14101]
2[Option ID=14102]




3[Option ID=14103]
4[Option ID=14104]

Sl. No.77
QBID:115077

Arrange the following countries in descending order (higher to lower) according to per capita emission of
Carbon-dioxide.

A. United States of America
B. Russia

C. Saudi Arabia

D. Qatar

E. Norway

Choose the correct answer from the options given below:

1.D.C.A B, E
2.D.A C,B.E
3.D,C,E,B.A
4 A,D,C,B,E

1

(2) 2

3) 3

(4) 4

Fufafad <=l o1 ufd cfdd Srdd 815 JHiFEe & IR a’is! (3= U ) o # afyd SIfe |

A. UG I AR
B. &Y

C. 9&dl 3RE

D. ddR

E.Hld

i faU 71U fa el © 9§ Ul 3k 1 99 DIl ;

1.D,C,A.B,E
2. D:A.C B, E
T DG E B.A
4. A,D,C,B,E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14105]
2[Option ID=14106]
3[Option ID=14107]
4[Option ID=14108]

Sl. No.78
QBID:115078




According to SRS-2020, arrange the following states in descending order (higher to lower) of Crude Birth Rate
(CBR) :

A. Uttar Pradesh
B. Bihar

C. Tamil Nadu
D. Rajasthan

E. Kerala

Choose the correct answer from the options given below;

1.A,B,C,D,E
2B.ADCE
3.BAD.E.C
4 A B, C,E,D
(1) 1
() 2
3) 3
(4) 4

TH 3R.UH.2020 & AR HHfaRdd sl &I srifed 9 &R (@l &l 3R.) & das # aRigl oA (S=aR d
R ) H ogaieyd SIT |

A. FR YUY
B. fagR
C. diferg

D. ISR
E. Id

I feu U fa el § O Tet 3R &l 994 Hifold
1L.ABECDE
2.B.A,D.C,E
3.B,A,D.E.C
4.A.B,C,E.D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=14109]
2[Option ID=14110]
3[Option ID=14111]
4[Option ID=14112]

Sl. No.79
QBID:115079

Arrange the different columns of Life Table from beginning to end.

A. nbx
B:e’x
C. Lk

D. Tx

Choose the correct answer from the options given below:

Ay G
B
B
B

1

2.C.A,
3:€A;
4. C.D.

w e
v M)




Sifg- drfieeT & Al Sred] & URY ¥ 3id 99 1 oaaiRud Sl |

A nbx
B.e%
(0

D Tx

1 feu e famedl H 9 98l SR &1 98- I :

LA CDBEB
2.CA DB
AR D
G AR
(1) 1
) 2
3) 3

(4) 4

o

1[Option ID=14113]
2[Option ID=14114]
3[Option ID=14115]
4[Option ID=14116]

Sl. No.80
QBID:115080

Arrange the following National Health Programme in chronological order.

A.NHM

B.RCH

C. NRHM

D. Ayushman Bharat

Choose the correct answer from the options given below:

1.A,C,B,D
2.A,B,D,C
3B, C.A D
4,B.A,C,D

1 1

() 2

(3) 3

(4) 4

frfefad T Tarey SribH| Bl DIashHATHR HdfRId IS |

A. TA U UH.
B. 341U,

C. T3[R TA.TH.
D. S HRd

i< [4U TU [dh el | U Yol 3R HI 994 BT -

W
¥ B
e Ne
Npow
[R-Het

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=14117]
2[Option ID=14118]

3[Option ID=14119]
4[Option ID=14120]

Sl. No.81
QBID:115081




Arrange the following from the most recent to oldest one.

A. Reproductive and Child Health (RCH) programme

B. The clinic approach in family planning

C. Extension approach in family planning

D. Child survival and Safe Motherhood (CSSM) programime

Choose the correct answer from the options given below:

CDBA

o

1.
2.
3

Lol

A
OwO!
oD
oo

1) 1
(2) 2
(3) 3
(4) 4

YRATT TNAR Hediv SIS & Fgferrad SUrl &l Tdi-ad O Uri—dd d® J afeyd Hifv |

A. UoH 2R §1d WA (IR 09 HRIEA

B. faaf® (e 3urm

C. [a&IR 3™

D. dTd IeRuiliddl 3R Ri&rd Alded BrishH

E. 3= O U4 7 <X gR1 iy 3= fRR e

i faU 70 fa el © § Yl 3R ol 99 Diolu :

CDBA

o

1.
2,
3

=

Y
OwmO!
0NP
g »

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=14121]
2[Option ID=14122]

3[Option ID=14123]
4[Option ID=14124]

Sl. No.82
QBID:115082

Arrange the following in the correct order of demographic evolution.

A. The declining stage with low mortality, lower natality and deaths exceeds births

B. The late expanding stage with falling birth rates but more rapidly decreasing mortality
C. The early expanding stage with high birth rates and high but decreasing mortality rates
D. The low stationary stage, with low birth rates balanced by equally low mortality

E. The high stationary stage characterized by high birth and death rates.

Choose the correct answer from the options given below:

1.E,C,B,A,D
2.E.D.B A C
3 BB DA
4.E,D,B,C A
1) 1
(2) 2
(3) 3

(4) 4




fFafaRad @1 SHifd @ fabr & gl HH H gaid HIfor -

A. 19 FeR YR SHER Td S 9 31U Jg B gIaHTT Sael
B. TRl SRl fobg ofig 1fd O gl ggex &l Siia fa&dR sfawi
C. G ¥ ¥ Y Je gRI1 Adfad (9 SR D1 997 RR sraw
D. 3% O U4 J &xl gRT MIEy 3= [RR s@l

E. 39 Ud Hgex! SRR al

i f3U 71U fa el © O el 31 &1 99 DiioIu :

1.E,.C,B,A,D
2.E.D.B,A,C
J.E.C.B.D,.A
4.E,D,B.C. A

11

(2) 2

(3) 3

(4) 4

1[Option ID=14125]
2[Option ID=14126]
3[Option ID=14127]
4[Option ID=14128]

Sl. No.83
QBID:115083

Arrange the states of India, in ascending order (lower to higher) by origin of out migrants as per census 2011.

A. Andhra Pradesh
B. Odisha

C. Rajasthan

D. Bihar

E. Uttar Pradesh

Choose the correct answer from the options given below:

LED.CB. A
2.AB.C,D,E
3.A.B.C,E.D
4.E A B, C.D

1) 1

) 2

3) 3

(4) 4

ST 2011 & AR HRd & (afeiRad Isai &1 d1-l Yariedl (3(13¢ Ad<d) & w4 H SgH DI =P I
3R HH (MU U IR dd) H AU DIy |

A, 3fiyUeEr
B. 3fifgan
C. IoH

D
E
= el H U Tel 3R &1 994 HifolT :

=
A

P ww
Tonon
Nmow
Ugm e

oW
S e F

) 1




(2) 2
3) 3
4) 4
1[Option ID=14129]
2[Option ID=14130]

3[Option ID=14131]
4[Option ID=14132]

Sl. No.84
QBID:115084

Arrange the following data sources in India from oldest to recent, according to their inception.

A. Sample Registration System (SRS)
B. National Family Health Survey

C. National Sample Survey

D. Population Census

Choose the correct answer from the options given below:

1.A.B.C.D
2.D,;A. B, C
3. B AE B
4. D.C.A B

1) 1

(2) 2

3) 3

(4) 4

URA & Fafafad Se (3iiasT) didl &1 396 Had- & STIR UEHaH 9 FdiHad & o8 5 agafedd SIfg |
A, TEAT USR] YUTTE (TH 3R T9)

B. UER W W40 (U9 UF U9 TH)
C Tftael Ja&ur (T TH T)
D. SEH SO
i feu T fawedl § ¥ 9g! Ik @1 904 Siloig
1.A.B.C.D
2. B AR €
3.D.A.C.B
4.D,C.A. B
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=14133]
2[Option ID=14134]
3[Option ID=14135]
4[Option ID=14136]

Sl. No.85
QBID:115085

Arrange the following approaches from oldest to newest, according to their inception.

A. Gender and Development (GAD)

B. Women in Development (WID)

C. Women and Development (WAD)

D. Gender, Law and Development (GLAD)

Choose the correct answer from the options given below:
1.B,C,A,D
2. DA
3. .G B
.B,

J_~.
>
r‘an»w
(= ile

11
(2) 2
(3) 3
(4) 4




afcRad IURHEI I9b URH EH & TR E-aH ¥ Tdi-aH & o H HafRyd DI -

A. e IR gD (Bl T3

B. fdsrd # Afgdl (Secg ails S

C. Afgdr 3R fa®T (Ssg T )

D. s, faf¥r (Fra) iR fabr (Sit ver U S

i faU U f[adh el § 9 g1 3R &1 99 Bl :

1[Option ID=14137]
2[Option ID=14138]
3[Option ID=14139]
4[Option ID=14140]

Sl. No.86
QBID:115086

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion-A: City primacy does not exist in India at the national level.

Reason-R: It is explained by the large size of the country, its colonial heritage, weak economic growth and
weakness in the forces of nationalism.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
1
(2 2
(3) 3
(4) 4

19 2 By [0 T 8: U SHIUDUA (Assertion A) P =0 H {oRdl ¢ I GERI 3Hb HRU (Reason R) B &Y
.

HfHBYUA-A: HRA H AP TR W YT D1 Y@l [GaH = 78] B

HRU-R: SHD! RN AR P §9 DR NP faed, HHOR 3Nfdes Yafe 3R HHSR AydIg I Bl
T gl

IR HYU & 3Tcid H i a8 T fadedl § 9 9a8 Iugdd Ik &1 98 Fifor |

1. AR RGH Uel g 3R R, A DI TUg! ARAT &

2. A 3R R T T8I § Al R, A DI Ug! AR ol o
3 ATSI e AfPIR el el ©

4. ATEI T8I ¢ AfP TR U ©




1[Option ID=14141]
2[Option ID=14142]
3[Option ID=14143]
4[Option ID=14144]

Sl. No.87
QBID:115087

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :

Aggertion-A: Indian census has shifted its operational approach from De facto to De jure.

Reason-R: Deployment of a large number of enumerators and supervisors often result into poor quality of data in De facto census.
In the light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

11
(2) 2
(3) 3
(4) 4

%amﬁ[{w% ; @\ﬂﬁ-@ﬂq (Assm‘tionA}%Wﬁ%@ﬂ%?ﬁwmw(Reason R)%quf:
SHYHYF A : YR SHIUAT = 30 YA IURH &) a%a: 9 faftd: § ufafdd s faa gl

PRUR : U Sol G601 T IRIUGT iR qddeiai 1 dH1cl ST IR Uig: a¥qa: S0 8§ ST (SHish) P TR o & =49
HEIAel
SR DY & i 1, 13U 7Y fapeui 8 1 9ad 3ugad 3R &1 94 Hifol -

A 3R R U € 3R R A DI Tl ARAT 8

A JRR I TSI 8. AfFTR. AT TSI AR Tl &
AT ABIR IS TE R

AT TR AFIRTE

1

@) 2

@) 3

(4) 4

O

1[Option ID=14145]
2[Option ID=14146]
3[Option ID=14147]
4[Option ID=14148]

Sl. No.88
QBID:115088

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Around 20% of maternal deaths are due to anaemia alone.

Reason R : In India., over 80% of pregnant women are anaemic/severely anaemic exposed to the risk of
toxaemias, pre-eclampsia and post delivery haemorrhage.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Aistrue but R is false
4. A is false but R is true
1
(2 2
3) 3
(4) 4




19 S DU ETI T : Ub AHBUT (Assertion A) b ¥U H [iRdd g I GEI I¥db BRI (Reason R) b &Y
H:

HUDYA A« el TR ReATeddr) & HRUI T 20 WG HIJ-TG Bldl 5 |

PHRUTR : R H 80 Uf=1d I 21feres miadt Afgat Tadeadd) 3dfdie adieddd ¢, ol fauTaddl, 3=
I (THIERIT) 3R U9d & o1 3addld & SIRGH & Ufd SaINd g |

SIS HY & 3Tdld H, i feU T fabedl # 9 G Iugad IR b1 94 B -

LLASIRRGHIWEI G SRR ADI GGl AN G
2. A 3R R TH T8I 5. Afth R, A DI Tl ARS8l &
3. ATel g AfPTR I TS ©
4 ATS el g afbIR Ul @

1[Option ID=14149]
2[Option ID=14150]
3[Option ID=14151]
4[Option ID=14152]

Sl. No.89
QBID:115089

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion-A : A large section of female headed households in India are poor.

Reason-R: Poor are better empowered to become family head.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
)1
(2 2
(3) 3
(4) 4

4 A DU TETIN T : Th AHDBUT (Assertion A) b ¥U H [iRdd g dl G I¥db BRI (Reason R) b &Y
H:

HUHYF A - YR H Bigar-gRaar uRaRi &1 s ge1 a7 9 ¢
HRUIR : URAR DI GRIT &1 o fordl TRIT dgak &1 Y YR il g |
JURId] HY b 3HTelld H. i ST 7T fdbedl T 9 Hel 3R &1 999 i -

1.A3RRGFI ¥ ¢ R R, A DI ol RS §
2. A 3R R Gl U &, dfdhd R, A Pl ol AR el &
3. AT g dfbI R 3T ©

4. AT G APIRIA G
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=14153]




2[Option ID=14154]
3[Option ID=14155]
4[Option ID=14156]

SlI. No.90
QBID:115090

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Open defecation is a key causative factor behind the high prevalence of soil and water borne
diseases in rural India.

Reason R: A very high percentage of rural population defecate in open, leaving the excreta to seep through the
soil and contaminate the water table and water bodies.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false
4. A is false but R is true
11
(2 2
(3) 3
(4) 4

19 21 Y ST TN § - U AUHYUA (Assertion A) & FY H fiRdd § ol GURI 3D BRI (Reason R) h &Y
:

YDA A - Y HRA H JaT 3R Sd-Sif-d aial & 3= Y=a- & Ul d 3 X U J5E HRUL-
D PRSP g |

DHRUR : JTHIUT SRS BT U 3{d-3=F HId=IG Gal H = Bl § AR A7 Bl Jal & J1ed J RYd ol
BIS ¢l ¢ YT 3UY O &R R ST YR gid ¢ |

IR HYUA & 3ATAlD H, Aid [T U [dded] H 9 Yol IR DI 994 DifolU -

1. A3RREH TT G 3R R, A DI Tgl AR ©
2. ARREHI T ¢, AfTR. A DI U5l AT ol &
3. AT g AfPIR UG 3T ©
4. AT 6l g diPIR A &
o 2
3) 3
4) 4

1[Option ID=14157]
2[Option ID=14158]
3[Option ID=14159]
4[Option ID=14160]

Sl. No.91
QBID:115091




Age specific, marital fertility rates (ASFMR) of India and select bigger states, 2020 given in the table below. Go through
the table and answer following questions :

5.No|India & Bigger States [15-19(20-24]25-29|30-34|35-39(40-44|45-49
1 |India 353.0|339.1§1993| 95.1[38.1]|126] 5.2
2 |Assam 554.91289.7|185.4|116.6| 573 [17.1 | 6.4
3 [Bihar 402.11397.1]250.7]155.0] 739 ]28.7| 11.1
4 |Gujarat 421.21355.3|203.51 923 | 277] 58 | 3.6
5 |Haryana 247.0]1339.4§210.7| 82.0[250]| 80 | 34
6 T&K 423.6|292.6|244.7]1147.3| 589|298 | 12.7
7 [Karnataka 217.6|237.7|157.1| 783 | 250 | 5.0 | 4.2
8 [Maharastra 250.31350.01171.9)1 627|196 | 44 | 2.0
9 [Kerala 420.21249.6]143.01 776 [ 243 | 5.0 | 06
10 |Tamil Nadu 255.0|12909|176.8| 615|162 | 38 | 06
11 [Uttar Pradesh 450.51450.6]268.11153.9| 716 [ 278 | 9.1
12 [West Bengal 467.2|12752|1148| 475|146 | 32 | 26

Source : SRS Statistical Report 2020

<f= g drferet # av 2020 H HRA 3R 39D el 31iee &2 Il D1 HRY-FARIP Ui o)
(TUY.UH.UA.3R.) G215 713 § | dlfciehl bl & 3R IHb dle faT 718 Ui & IwR alforg -

.M 31T AP g2 IT5U|15-19[20-2425-29(30-34[35-39]40-44]45-49
1 MR 353.0[339.1/199.3| 95.1 | 38.1 | 12.6] 522
2 e 554.9[289.7|185.4|116.6|57.3 | 17.1] 6.4
3 [[@BR 402.1)397.1[250.7155.0[ 73.9 | 28.7| 11.1
4 TR 421.2[355.3[203.5] 923 [27.7| 5.8 | 36
5 gl 247.0[339.4[210.7[82.0 [25.0] 8.0 | 3.4
6 [ Ud HTENR 423.6{292.6[244.7(147.3[ 58.9 [ 29.8| 12.7
7 @D 217.6[237.7|137.1| 78.3 [ 250 5.0 | 42
2 [MHERTE 250.3[350.0/1171.9]62.7 | 196 | 4.4 | 2.0
9 [T 420.2]249.6[143.0{ 776 [243 | 5.0 | 06
10 [dfHaTg 255.0290.9/176.8|61.5 |16.2| 3.8 | 0.6
11 [GRucH 450.5]450.6[268.1{153.9| 71.6 | 27.8| 9.1
12 [OfEm & 467.21275.2(114.8[ 475 (146 | 32 | 26

Tl - TH.3R.GY. Wewidd RUie, 2022

Which state has consistently higher ASFMR in all age-groups than Assam except in 15-19 years?

1. West Bengal
2.T& K

3. Uttar Pradesh
4. Bihar

(1) 1
(2) 2
(3) 3
(4) 4

Fafefrad # 9 fog sy ot qHt Sg-Hgl # (15-19 99 SISHR) 397 $i 3{Ual FRR U 4 3=
UUHUH.UH.IR. § 2

1. Gi%e §red

2. 9] Ud HYHR
3. 3R Uy

4. foBR

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=14161]
2[Option ID=14162]

3[Option ID=14163]
4[Option ID=14164]

Sl. No.92
QBID:115092




Age specific, marital fertility rates (ASFMR) of India and select bigger states, 2020 given in the table below. Go through
the table and answer following questions :

5.No|India & Bigger States [15-19(20-24]25-29|30-34|35-39(40-44|45-49
1 |India 353.0|339.1§1993| 95.1[38.1]|126] 5.2
2 |Assam 554.91289.7|185.4|116.6| 573 [17.1 | 6.4
3 [Bihar 402.11397.1]250.7]155.0] 739 ]28.7| 11.1
4 |Gujarat 421.21355.3|203.51 923 | 277] 58 | 3.6
5 |Haryana 247.0]1339.4§210.7| 82.0[250]| 80 | 34
6 T&K 423.6|292.6|244.7]1147.3| 589|298 | 12.7
7 [Karnataka 217.6|237.7|157.1| 783 | 250 | 5.0 | 4.2
8 [Maharastra 250.31350.01171.9)1 627|196 | 44 | 2.0
9 [Kerala 420.21249.6]143.01 776 [ 243 | 5.0 | 06
10 |Tamil Nadu 255.0|12909|176.8| 615|162 | 38 | 06
11 [Uttar Pradesh 450.51450.6]268.11153.9| 716 [ 278 | 9.1
12 [West Bengal 467.2|12752|1148| 475|146 | 32 | 26

Source : SRS Statistical Report 2020

<f= <t g crferet # ay 2020 H HRA 3R 39D el e T8 Il D1 HRY-FARIP o &)
(TUY.UH.UA.3R.) G215 713 § | dlfciehl bl & 3R IHb dle faT 718 Ui & IwR alforg -

.M 31T AP g2 IT5U|15-19[20-2425-29(30-34[35-39]40-44]45-49
1 MR 353.0[339.1/199.3| 95.1 | 38.1 | 12.6] 522
2 P 554.9[289.7/185.4|116.6| 57.3 | 17.1] 6.4
3 [[@ER 402.1[397.1[250.7]155.0[ 73.9 [ 28.7| 11.1
4 TR 421.2[355.3[203.5] 923 [27.7| 5.8 | 36
5 gl 247.0[339.4[210.7[82.0 [25.0] 8.0 | 3.4
6 [ Ud HTENR 423.6{292.6[244.7(147.3[ 58.9 [ 29.8| 12.7
7 [@ACH 217.6[237.7|157.1| 78.3 [ 250 5.0 | 42
2 [MHERTE 250.3[350.0/1171.9]62.7 | 196 | 4.4 | 2.0
9 [hd 420.2]249.6(143.0{ 77.6 [243 | 5.0 | 06
10 [dfHaTg 255.0290.9/176.8|61.5 |16.2| 3.8 | 0.6
11 [GRucH 450.5]450.6[268.1{153.9| 71.6 | 27.8| 9.1
12 [OfEm & 467.21275.2(114.8[ 475 (146 | 32 | 26

Tid - TH 3R EY. Wewidd Uie, 2022

Which state has highest ASMFR during 40 years and above?

1. Kerala
2. Karnataka
3. Maharashtra
4. JI&K

1) 1

(2) 2

3) 3

) 4

FRTRIT T Y 159 I8 DI 40 a9 3R 39 (8@ & SR F=dH TLH.UH.UE. AR, § ?

1[Option ID=14165]
2[Option ID=14166]
3[Option ID=14167]
4[Option ID=14168]

SlI. No.93
QBID:115093




Age specific, marital fertility rates (ASFMR) of India and select bigger states, 2020 given in the table below. Go through
the table and answer following questions :

5.No|India & Bigger States [15-19(20-24]25-29|30-34|35-39(40-44|45-49
1 |India 353.0|339.1§1993| 95.1[38.1]|126] 5.2
2 |Assam 554.91289.7|185.4|116.6| 573 [17.1 | 6.4
3 [Bihar 402.11397.1]250.7]155.0] 739 ]28.7| 11.1
4 |Gujarat 421.21355.3|203.51 923 | 277] 58 | 3.6
5 |Haryana 247.0]1339.4§210.7| 82.0[250]| 80 | 34
6 T&K 423.6|292.6|244.7]1147.3| 589|298 | 12.7
7 [Karnataka 217.6|237.7|157.1| 783 | 250 | 5.0 | 4.2
8 [Maharastra 250.31350.01171.9)1 627|196 | 44 | 2.0
9 [Kerala 420.21249.6]143.01 776 [ 243 | 5.0 | 06
10 |Tamil Nadu 255.0|12909|176.8| 615|162 | 38 | 06
11 [Uttar Pradesh 450.51450.6]268.11153.9| 716 [ 278 | 9.1
12 [West Bengal 467.2|12752|1148| 475|146 | 32 | 26

Source : SRS Statistical Report 2020

<f= <t g crferet # ay 2020 H HRA 3R 39D el e T8 Il D1 HRY-FARIP o &)
(TUY.UH.UA.3R.) G215 713 § | dlfciehl bl & 3R IHb dle faT 718 Ui & IwR alforg -

.M 31T AP g2 IT5U|15-19[20-2425-29(30-34[35-39]40-44]45-49
1 MR 353.0[339.1/199.3| 95.1 | 38.1 | 12.6] 522
2 P 554.9[289.7/185.4|116.6| 57.3 | 17.1] 6.4
3 [[@ER 402.1[397.1[250.7]155.0[ 73.9 [ 28.7| 11.1
4 TR 421.2[355.3[203.5] 923 [27.7| 5.8 | 36
5 gl 247.0[339.4[210.7[82.0 [25.0] 8.0 | 3.4
6 [ Ud HTENR 423.6{292.6[244.7(147.3[ 58.9 [ 29.8| 12.7
7 [@ACH 217.6[237.7|157.1| 78.3 [ 250 5.0 | 42
2 [MHERTE 250.3[350.0/1171.9]62.7 | 196 | 4.4 | 2.0
9 [hd 420.2]249.6(143.0{ 77.6 [243 | 5.0 | 06
10 [dfHaTg 255.0290.9/176.8|61.5 |16.2| 3.8 | 0.6
11 [GRucH 450.5]450.6[268.1{153.9| 71.6 | 27.8| 9.1
12 [OfEm & 467.21275.2(114.8[ 475 (146 | 32 | 26

Tid - TH 3R EY. Wewidd Uie, 2022

Which state has highest ASMFRs in all age group except in 15-19 years.

1. Uttar Pradesh
2. Bihar
3. Assam
4. West Bengal
1) 1
) 2
(3) 3
4) 4

FaiaRad o (g g &1 15 Y 19 aY aP Dl DI B G 31Y-Tig! H 3=IdH TTH THUG.3R. § ?

1. WY
2. fogR
3. 39
4. gigy §Tre

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=14169]
2[Option ID=14170]
3[Option ID=14171]
4[Option ID=14172]

Sl. No.94
QBID:115094




Age specific, marital fertility rates (ASFMR) of India and select bigger states, 2020 given in the table below. Go through
the table and answer following questions :

5.No|India & Bigger States [15-19(20-24]25-29|30-34|35-39(40-44|45-49
1 |India 353.0|339.1§1993| 95.1[38.1]|126] 5.2
2 |Assam 554.91289.7|185.4|116.6| 573 [17.1 | 6.4
3 [Bihar 402.11397.1]250.7]155.0] 739 ]28.7| 11.1
4 |Gujarat 421.21355.3|203.51 923 | 277] 58 | 3.6
5 |Haryana 247.0]1339.4§210.7| 82.0[250]| 80 | 34
6 T&K 423.6|292.6|244.7]1147.3| 589|298 | 12.7
7 [Karnataka 217.6|237.7|157.1| 783 | 250 | 5.0 | 4.2
8 [Maharastra 250.31350.01171.9)1 627|196 | 44 | 2.0
9 [Kerala 420.21249.6]143.01 776 [ 243 | 5.0 | 06
10 |Tamil Nadu 255.0|12909|176.8| 615|162 | 38 | 06
11 [Uttar Pradesh 450.51450.6]268.11153.9| 716 [ 278 | 9.1
12 [West Bengal 467.2|12752|1148| 475|146 | 32 | 26

Source : SRS Statistical Report 2020

<f= <t g crferet # ay 2020 H HRA 3R 39D el e T8 Il D1 HRY-FARIP o &)
(TUY.UH.UA.3R.) G215 713 § | dlfciehl bl & 3R IHb dle faT 718 Ui & IwR alforg -

.M 31T AP g2 IT5U|15-19[20-2425-29(30-34[35-39]40-44]45-49
1 MR 353.0[339.1/199.3| 95.1 | 38.1 | 12.6] 522
2 P 554.9[289.7/185.4|116.6| 57.3 | 17.1] 6.4
3 [[@ER 402.1[397.1[250.7]155.0[ 73.9 [ 28.7| 11.1
4 TR 421.2[355.3[203.5] 923 [27.7| 5.8 | 36
5 gl 247.0[339.4[210.7[82.0 [25.0] 8.0 | 3.4
6 [ Ud HTENR 423.6{292.6[244.7(147.3[ 58.9 [ 29.8| 12.7
7 [@ACH 217.6[237.7|157.1| 78.3 [ 250 5.0 | 42
2 [MHERTE 250.3[350.0/1171.9]62.7 | 196 | 4.4 | 2.0
9 [hd 420.2]249.6(143.0{ 77.6 [243 | 5.0 | 06
10 [dfHaTg 255.0290.9/176.8|61.5 |16.2| 3.8 | 0.6
11 [GRucH 450.5]450.6[268.1{153.9| 71.6 | 27.8| 9.1
12 [OfEm & 467.21275.2(114.8[ 475 (146 | 32 | 26

Tid - TH 3R EY. Wewidd Uie, 2022

Which state has lowest ASMFR after 40 years?

1. Tamil Nadu
2. Kerala
3. Karnataka
4. Haryana
1) 1
) 2
(3) 3
4) 4

Ffafad | 3 forg 39 &1 40 99 & 91¢ AYdH T T UTH.UG 3R, § 2
1. IS
2. HId
3. HAlch
4. gl
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=14173]
2[Option ID=14174]

3[Option ID=14175]
4[Option ID=14176]

Sl. No.95
QBID:115095




Age specific, marital fertility rates (ASFMR) of India and select bigger states, 2020 given in the table below. Go through
the table and answer following questions :

5.No|India & Bigger States [15-19(20-24]25-29|30-34|35-39(40-44|45-49
1 |India 353.0|339.1§1993| 95.1[38.1]|126] 5.2

2 |Assam 554.91289.7|185.4|116.6| 573 [17.1 | 6.4

3 [Bihar 402.11397.1]250.7]155.0] 739 ]28.7| 11.1
4 |Gujarat 421.21355.3|203.51 923 | 277] 58 | 3.6

5 |Haryana 247.0]1339.4§210.7| 82.0[250]| 80 | 34

6 T&K 423.6|292.6|244.7]1147.3| 589|298 | 12.7
7 [Karnataka 217.6|237.7|157.1| 783 | 250 | 5.0 | 4.2

8 [Maharastra 250.31350.01171.9)1 627|196 | 44 | 2.0

9 [Kerala 420.21249.6]143.01 776 [ 243 | 5.0 | 06

10 |Tamil Nadu 255.0|12909|176.8| 615|162 | 38 | 06

11 [Uttar Pradesh 450.51450.6]268.11153.9| 716 [ 278 | 9.1

12 [West Bengal 467.2|12752|1148| 475|146 | 32 | 26

Source : SRS Statistical Report 2020

<f= g drferet # av 2020 H HRA 3R 39D el 31iee &2 Il D1 HRY-FARIP Ui o)
(TUY.UH.UA.3R.) G215 713 § | dlfciehl bl & 3R IHb dle faT 718 Ui & IwR alforg -

.M 31T AP g2 IT5U|15-19[20-2425-29(30-34[35-39]40-44]45-49
1 MR 353.0[339.1/199.3| 95.1 | 38.1 | 12.6] 522
2 e 554.9[289.7|185.4|116.6|57.3 | 17.1] 6.4
3 [[@BR 402.1)397.1[250.7155.0[ 73.9 | 28.7| 11.1
4 TR 421.2[355.3[203.5] 923 [27.7| 5.8 | 36
5 gl 247.0[339.4[210.7[82.0 [25.0] 8.0 | 3.4
6 [ Ud HTENR 423.6{292.6[244.7(147.3[ 58.9 [ 29.8| 12.7
7 @D 217.6[237.7|137.1| 78.3 [ 250 5.0 | 42
2 [MHERTE 250.3[350.0/1171.9]62.7 | 196 | 4.4 | 2.0
9 [T 420.2]249.6[143.0{ 776 [243 | 5.0 | 06
10 [dfHaTg 255.0290.9/176.8|61.5 |16.2| 3.8 | 0.6
11 [GRucH 450.5]450.6[268.1{153.9| 71.6 | 27.8| 9.1
12 [OfEm & 467.21275.2(114.8[ 475 (146 | 32 | 26

Tl - TH.3R.GY. Wewidd RUie, 2022

How many states have ASMFR higher in age-group 15-24 years than India?

B b=
b O B LA

(1) 1
(2) 2
(3) 3
(4) 4

HRA P a1 H fobo1 Iodi | 15 U 24 99 b b 37 GHg H U.TH.UH.UB. 3R, FHAR g ?

b b —
b SN B Lh

.

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=14177]
2[Option ID=14178]

3[Option ID=14179]
4[Option ID=14180]
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Answer a question on the basis of the following paragraph :

Asia is a major region of origin for international female migration. The principle stream is the migration of women workers
from South and South East Asia to Gulf countries. The second stream is from Sri Lanka, Thailand. Indonesia and Philippines
to Brunei, Hong Kong, Singapore and Malaysia. The third stream is of those moving to Canada the US and Europe. The first
and second stream of migration generally consist of workers in the lower end of manufacturing and services, while the third
stream of migrants consists of those in medium and high skilled categories, such as IT professional and health care workers.
A gender differentiated demand for labour seems to determine the migration flow of international female workers. The
majority of male migrants are engaged in production and construction, females are disproportionately engaged in care and
entertainment services. In the South Asian context, the feminization of migration is observed in the migration of women
from Sri Lanka. As per statistics in 2009, 52 per cent of the total Sri Lankan emigrant were women, of which 90 per cent
migrated as housemaids. The composition of female migrants provides clues about the factors that trigger migration at the
micro level.

TR & YR TR 3R SIS |

TR SIRIPTE Yaa 1 U& U S0 &7 ¢ | it 4e! & yave o1 130 yars a0 vk 3R <féon gd oftmar 3 arst axi
Bl SR T | GINT VATE JiEdl. UTsets. SSHIRMAT 3R TFeidia 3 g5, 817 i1, RITgR 3/ TafRm &1 6k 3 | d¥R1 vaTg 391 5.
S FHATSI, SHRST 3R TRY BT SR BT 8 | Ha8H & Ugd 3R S3R HaTe 8 IErIa: Fagull &1 e 3R Jard &1 Ha®
T S 5. Said Yaa- & dias Jarg J TS ok 3= ourd S10ril, SR- s, 21, WheHd SR sayedd) 4ibe afifed
© | 4fhep] 31 U Sisx-fanfed T SieRifTy nfte sfie! & vag- &1 yare FulRa &= arel wild 8t § | S59%79 439 Hari
e gd fafaior o o gu B, wefe afeant segurd 9 9 3@y SR TR Sarsi § erivd § | Zi&m uRars ve o vage
1 HigeTaxvl dIeieT 3 Aigars & Uahd © @l ™I & | a¥ 2009 & P & SHFUR 4Pl &1 $a 52 U= Sorard Afgend of.
Tore g 90 Wi = ORg AIPRIE] & T 1 IS (51 | Higdl Saiydl $1 §9-1 3 RN &1 Hebd WaH Bl 6. ol Y&
TR R YaH B IR FAE |

Which among the following group of countries attract high skilled women migrants?

1. Gulf countries
2. European countries
3. South Asian countries
4. East Asian countries
1) 1
() 2
(3) 3
(4) 4

FafcRad # 9 foe1 <=1l &1 99 3= DA Afgdl IHAIRAT DI b Nd Bl g ?

1. et &g

2. YU &2
3. afémr g
4.7d QAT &N
1) 1
() 2
(3) 3
4) 4

1[Option ID=14181]
2[Option ID=14182]
3[Option ID=14183]
4[Option ID=14184]
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Answer a question on the basis of the following paragraph :

Asia is a major region of origin for international female migration. The principle stream is the migration of women workers
from South and South East Asia to Gulf countries. The second stream is from Sri Lanka, Thailand. Indonesia and Philippines
to Brunei, Hong Kong, Singapore and Malaysia. The third stream is of those moving to Canada the US and Europe. The first
and second stream of migration generally consist of workers in the lower end of manufacturing and services, while the third
stream of migrants consists of those in medium and high skilled categories, such as IT professional and health care workers.
A gender differentiated demand for labour seems to determine the migration flow of international female workers. The
majority of male migrants are engaged in production and construction, females are disproportionately engaged in care and
entertainment services. In the South Asian context, the feminization of migration is observed in the migration of women
from Sri Lanka. As per statistics in 2009, 52 per cent of the total Sri Lankan emigrant were women, of which 90 per cent
migrated as housemaids. The composition of female migrants provides clues about the factors that trigger migration at the

micro level.
TR & SR TR IR &I |

TR SIRIPTE Yaa 1 U& U S0 &7 ¢ | it 4e! & yave o1 130 yars a0 vk 3R <féon gd oftmar 3 arst axi
Bl SR T | GINT VATE JiEdl. UTsets. SSHIRMAT 3R TFeidia 3 g5, 817 i1, RITgR 3/ TafRm &1 6k 3 | d¥R1 vaTg 391 5.
S FHATSI, SHRST 3R TRY BT SR BT 8 | Ha8H & Ugd 3R S3R HaTe 8 IErIa: Fagull &1 e 3R Jard &1 Ha®
T S 5. Said Yaa- & dias Jarg J TS ok 3= ourd S10ril, SR- s, 21, WheHd SR sayedd) 4ibe afifed
© | 4fhep] 31 U Sisx-fanfed T SieRifTy nfte sfie! & vag- &1 yare FulRa &= arel wild 8t § | S59%79 439 Hari
e gd fafaior o o gu B, wefe afeant segurd 9 9 3@y SR TR Sarsi § erivd § | Zi&m uRars ve o vage
1 HigeTaxvl dIeieT 3 Aigars & Uahd © @l ™I & | a¥ 2009 & P & SHFUR 4Pl &1 $a 52 U= Sorard Afgend of.
Tore g 90 Wi = ORg AIPRIE] & T 1 IS (51 | Higdl Saiydl $1 §9-1 3 RN &1 Hebd WaH Bl 6. ol Y&
TR R YaH B IR FAE |

How many principal streams of migration of women from Asia could be identified?

1. One
2. Two
3. Three
4. Four

1) 1

(2) 2

(3) 3

a) 4

TR YaGH & [ba- 730 Walgi i Ugdi ! off ebdll g 2

1.U%H
PR |
3.dF
4.9R

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=14185]
2[Option ID=14186]
3[Option ID=14187]
4[Option ID=14188]
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Answer a question on the basis of the following paragraph :

Asia is a major region of origin for international female migration. The principle stream is the migration of women workers
from South and South East Asia to Gulf countries. The second stream is from Sri Lanka, Thailand. Indonesia and Philippines
to Brunei, Hong Kong, Singapore and Malaysia. The third stream is of those moving to Canada the US and Europe. The first
and second stream of migration generally consist of workers in the lower end of manufacturing and services, while the third
stream of migrants consists of those in medium and high skilled categories, such as IT professional and health care workers.
A gender differentiated demand for labour seems to determine the migration flow of international female workers. The
majority of male migrants are engaged in production and construction, females are disproportionately engaged in care and
entertainment services. In the South Asian context, the feminization of migration is observed in the migration of women
from Sri Lanka. As per statistics in 2009, 52 per cent of the total Sri Lankan emigrant were women, of which 90 per cent
migrated as housemaids. The composition of female migrants provides clues about the factors that trigger migration at the

micro level.
TR & SR TR IR &I |

TR SIRIPTE Yaa 1 U& U S0 &7 ¢ | it 4e! & yave o1 130 yars a0 vk 3R <féon gd oftmar 3 arst axi
Bl SR T | GINT VATE JiEdl. UTsets. SSHIRMAT 3R TFeidia 3 g5, 817 i1, RITgR 3/ TafRm &1 6k 3 | d¥R1 vaTg 391 5.
S FHATSI, SHRST 3R TRY BT SR BT 8 | Ha8H & Ugd 3R S3R HaTe 8 IErIa: Fagull &1 e 3R Jard &1 Ha®
T S 5. Said Yaa- & dias Jarg J TS ok 3= ourd S10ril, SR- s, 21, WheHd SR sayedd) 4ibe afifed
© | 4fhep] 31 U Sisx-fanfed T SieRifTy nfte sfie! & vag- &1 yare FulRa &= arel wild 8t § | S59%79 439 Hari
e gd fafaior o o gu B, wefe afeant segurd 9 9 3@y SR TR Sarsi § erivd § | Zi&m uRars ve o vage
1 HigeTaxvl dIeieT 3 Aigars & Uahd © @l ™I & | a¥ 2009 & P & SHFUR 4Pl &1 $a 52 U= Sorard Afgend of.
Tore g 90 Wi = ORg AIPRIE] & T 1 IS (51 | Higdl Saiydl $1 §9-1 3 RN &1 Hebd WaH Bl 6. ol Y&
TR IR V69 B SoiRd B § |

Which among the following describes the phenomenon of international women migration for care and entertainment serviees?

1. Gender stereotype
2. Gender neutral

. Gender sensitive

. Gender prototype
1) 1

() 2

3) 3

4) 4

fFrafafad & 9 o1F 3gua ok TR Ja1si & R siqiyia afee vau= 1 oieaeq a1 v a=arg 2

1. o= Wilesy
2. SIS g
3. WS -Hdeeiid
4, S=SR UIClegy
(1) 1
(2) 2
(3) 3
(@) 4

S N

1[Option ID=14189]
2[Option ID=14190]
3[Option ID=14191]
4[Option ID=14192]
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Answer a question on the basis of the following paragraph :

Asia is a major region of origin for international female migration. The principle stream is the migration of women workers
from South and South East Asia to Gulf countries. The second stream is from Sri Lanka, Thailand. Indonesia and Philippines
to Brunei, Hong Kong, Singapore and Malaysia. The third stream is of those moving to Canada the US and Europe. The first
and second stream of migration generally consist of workers in the lower end of manufacturing and services, while the third
stream of migrants consists of those in medium and high skilled categories, such as IT professional and health care workers.
A gender differentiated demand for labour seems to determine the migration flow of international female workers. The
majority of male migrants are engaged in production and construction, females are disproportionately engaged in care and
entertainment services. In the South Asian context, the feminization of migration is observed in the migration of women
from Sri Lanka. As per statistics in 2009, 52 per cent of the total Sri Lankan emigrant were women, of which 90 per cent
migrated as housemaids. The composition of female migrants provides clues about the factors that trigger migration at the
micro level.

TR & YR TR 3R SIS |

TR SIRIPTE Yaa 1 U& U S0 &7 ¢ | it 4e! & yave o1 130 yars a0 vk 3R <féon gd oftmar 3 arst axi
Bl SR T | GINT VATE JiEdl. UTsets. SSHIRMAT 3R TFeidia 3 g5, 817 i1, RITgR 3/ TafRm &1 6k 3 | d¥R1 vaTg 391 5.
S FHATSI, SHRST 3R TRY BT SR BT 8 | Ha8H & Ugd 3R S3R HaTe 8 IErIa: Fagull &1 e 3R Jard &1 Ha®
T S 5. Said Yaa- & dias Jarg J TS ok 3= ourd S10ril, SR- s, 21, WheHd SR sayedd) 4ibe afifed
© | 4fhep] 31 U Sisx-fanfed T SieRifTy nfte sfie! & vag- &1 yare FulRa &= arel wild 8t § | S59%79 439 Hari
e gd fafaior o o gu B, wefe afeant segurd 9 9 3@y SR TR Sarsi § erivd § | Zi&m uRars ve o vage
1 HigeTaxvl dIeieT 3 Aigars & Uahd © @l ™I & | a¥ 2009 & P & SHFUR 4Pl &1 $a 52 U= Sorard Afgend of.
Tore g 90 Wi = ORg AIPRIE] & T 1 IS (51 | Higdl Saiydl $1 §9-1 3 RN &1 Hebd WaH Bl 6. ol Y&
TR R YaH B IR FAE |

What percentage of men are emigrant from Sri Lanka as labour?

1) 1
) 2
(3) 3
(4) 4

fidiT T Y4ff® & &9 H fhaq ufdwrd ITardi g 2

1[Option ID=14193]
2[Option ID=14194]
3[Option ID=14195]
4[Option ID=14196]
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Answer a question on the basis of the following paragraph :

Asia is a major region of origin for international female migration. The principle stream is the migration of women workers
from South and South East Asia to Gulf countries. The second stream is from Sri Lanka, Thailand. Indonesia and Philippines
to Brunei, Hong Kong, Singapore and Malaysia. The third stream is of those moving to Canada the US and Europe. The first
and second stream of migration generally consist of workers in the lower end of manufacturing and services, while the third
stream of migrants consists of those in medium and high skilled categories, such as IT professional and health care workers.
A gender differentiated demand for labour seems to determine the migration flow of international female workers. The
majority of male migrants are engaged in production and construction, females are disproportionately engaged in care and
entertainment services. In the South Asian context, the feminization of migration is observed in the migration of women
from Sri Lanka. As per statistics in 2009, 52 per cent of the total Sri Lankan emigrant were women, of which 90 per cent
migrated as housemaids. The composition of female migrants provides clues about the factors that trigger migration at the

micro level.
TR & SR TR IR &I |

TR SIRIPT YaS 1 0% U S &7 ¢ | it 4He! & yass o1 730 yars a0 vk 3R =fémn gd ot 3 arst st
Bl SR T | GINT VATE Jid1. UTsels. SSHIRMAT 3R THedia 3 g5, 81 i1, RITgR 3/ TafRm &1 ok 3 | d¥R1 yaTg 391 5.
S FHATSI, SHRST 3R TRY BT SR BT 8 | Ha8H & Ugd 3R S3R HaTe 8 IErIa: Fagull &1 e 3R Jard &1 Ha®
T S 5. Said Yaa- & dias Jarg J TS ok 3= ourd S10ril, SR- s, 21, WheHd SR sayedd) 4ibe afifed
© | 4fhep] 31 U Sisx-fanfed T SieRifTy nfte sfie! & vag- &1 yare FulRa &= arel wild 8t § | S59%79 439 Hari
e gd fafaior o o gu B, wefe afeant segurd 9 9 3@y SR TR Sarsi § erivd § | Zi&m uRars ve o vage
1 HigeTexvl dIeieT I Higars & Uagd ® @1 ™I & | aY 2009 & P & SFUR 4Pl &1 Pa 52 U= Ierard] Afgend of.
Tore 9 00 Wi = ORg AIRIE] & T 1 IS (51 | Higel STyl $1 $9-1 37 HRUN &1 Hobd WaH Sl 6, ol Y&
HR IR YaEH B FHIRd A B |

If there are 100 women emigrant from Sri Lanka, how many of them have migrated as housemaids?

1) 1
) 2
(3) 3
(4) 4

i diciep1 ¥ 100 Al IUERH € dl 370 I {7 R ABRAIT & =0 H Yae1 fbar g 2

o

7
9%
0%

o

45%
47°

1.
2.
3

e

J‘A .
tn

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=14197]
2[Option ID=14198]

3[Option ID=14199]
4[Option ID=14200]

Sl. No.101
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The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population 7 e =
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
G 18,000 32% 36% (-)
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table {-) denotes missing value (%), which is to be computed whenever required.

fafeRaa difereT A-E dia Tial & Sardl ok 378 U= (M), AR (F) IR ¢iisist & Wiasid [ad=o &1
SR 3| 5 IferepT B 4T U 3 s! & SHTUR TR W4 T IR SIoTe:

HISTE! BT ITHGR faavon
- I [EGLUPIGEGRCD)
i od M F i
A 12.000 46% (-} 22%
B 16,000 (-) 33% 27%
& 18.000 32% 36% (-)
D 24.000 36% (-} 20%
E 25.000 &) 30% 25%
ie: arferet § Rad 31 &1 (-) 51 111 711 § [T U Savg@ar{aR faal ST g |
Transgender population in Village - A is % of the female population in Village - B.
1.75
2.50
33333
4. 66.66
1) 1
2) 2
(3) 3
(4) 4
Tiig AT SIS} 31 3fare! 1fd B & wfgarsi @1 smardl @1 %3l
1.75
2.50
3.33.33
4. 66.66
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=16401]
2[Option ID=16402]
3[Option ID=16403]
4[Option ID=16404]

Sl. No.102
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The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population 7 e =
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
G 18,000 32% 36% (-)
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table {-) denotes missing value (%), which is to be computed whenever required.

fafeRaa difereT A-E dia Tial & Sardl ok 378 U= (M), AR (F) IR ¢iisist & Wiasid [ad=o &1
SR 3| 5 IferepT B 4T U 3 s! & SHTUR TR W4 T IR SIoTe:

3ETe] &1 ATHAR faawo

- I [EGLUPIGEGRCD)

i gﬁf M F T
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
C 18.000 32% 36% (-)
D 24,000 36% (-) 20%
E 25.000 &) 30% 25%

ie: arferet § Rad 31 &1 (-) 51 111 711 § [T U Savg@ar{aR faal ST g |

Find the difference between male population in Village - E and female population in Village - D.

1. 890
2. 830
3. 600
4. 610
1) 1
) 2
(3) 3
(4) 4

TIfd £ H qoNl @ MErE! SR 7iid D H Afgensi &1 el & §f e &1 SR o 82

1. 890
2. 830
. 690
. 610

1)1
(2) 2
(3) 3
(4) 4

IS Y

1[Option ID=16405]
2[Option ID=16406]
3[Option ID=16407]
4[Option ID=16408]
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The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population 7 e =
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
G 18,000 32% 36% (-)
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table {-) denotes missing value (%), which is to be computed whenever required.

fafeRaa difereT A-E dia Tial & Sardl ok 378 U= (M), AR (F) IR ¢iisist & Wiasid [ad=o &1
SRl 3| 59 IferepT B 4T U 3 s! & SHTUR TR W4 T R SIoTg:

3ETe] &1 ATHAR faawo

- I [EGLUPIGEGRCD)

i gﬁf M F T
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
C 18.000 32% 36% (-)
D 24,000 36% (-) 20%
E 25.000 &) 30% 25%

ie: arferet § Rad 31 &1 (-) 51 111 711 § [T U Savg@ar{aR faal ST g |

Find the ratio of population of transgenders in Village - C to population of males in Village - B.

1.9:10
2.7:8
3.34
42732
1) 1

) 2

(3) 3

(4) 4

Tid ¢ T giwisR SR 71 B H G¥HI I SAEIE] BT U J1d DI |

1.9:10
A 8
3.3:4
q4.27:32
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=16409]
2[Option ID=16410]
3[Option ID=16411]
4[Option ID=16412]

Sl. No.104
QBID:7201004




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population 7 e =
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
G 18,000 32% 36% (-)
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table {-) denotes missing value (%), which is to be computed whenever required.

fafeRaa difereT A-E dia Tial & Sardl ok 378 U= (M), AR (F) IR ¢iisist & Wiasid [ad=o &1
SRl 3| 59 IferepT B 4T U 3 s! & SHTUR TR W4 T R SIoTg:

3ETe] &1 ATHAR faawo

- I [EGLUPIGEGRCD)

i gﬁf M F T
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
C 18.000 32% 36% (-)
D 24,000 36% (-) 20%
E 25.000 &) 30% 25%

ie: arferet § Rad 31 &1 (-) 51 111 711 § [T U Savg@ar{aR faal ST g |

What is the difference between number of males and females in Village - A ?

1. 480

2.1920
1120
. 1680

]

1) 1
() 2
3) 3
@ 4
Tiid AT goul SR Aigarsl @1 Te & §9 o1 =R bal o2

480

. 1920
3. 1120
4. 1680

1)1

(2) 2

3) 3

(4) 4

[ S

1[Option ID=16413]
2[Option ID=16414]
3[Option ID=16415]
4[Option ID=16416]
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The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population 7 e =
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
G 18,000 32% 36% (-)
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table {-) denotes missing value (%), which is to be computed wheneve[ required.
fafeRaa difereT A-E dia Tial & Sardl ok 378 U= (M), AR (F) IR ¢iisist & Wiasid [ad=o &1
ST €1 59 aiferept § fAU T Sieps] & YR IR U BT IR aIfore:

HISTE! BT ITHaR faaro

- [EGLUPIGEGRCD)

RIE] FONREIE g i 5 T

A 12.000 46% (-} 22%

B 16,000 (-) 33% 27%

C 18.000 32% 36% (-)

D 24,000 36% (-} 20%

E 25.000 (-) 30% 25%
ie: arferet § Rad 31 &1 (-) 51 111 711 § [T U Savg@ar{aR faal ST g |
Total number of females in Villages B and D together is % more than the number of males in Village
-C.

1.275

2225

3.125

4. 175
(1) 1
2) 2
3) 3
(4) 4

Tfd B 3R D &I 8 U 91y Aigansll &1 oo Sean viid ¢ ¥ g3u] & G 3 foa ufasid st g2

]
=1 b2 b2 -]
Lh Ln

gL o
—= = b
Ln Ln

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16417]
2[Option ID=16418]

3[Option ID=16419]
4[Option ID=16420]

Sl. No.106
QBID:7201006

In ADDIE model of instructional design framework, the letters I and E in the acronym ADDIE pertain to

1. Identification and Evaluation
2. Implementation and Evaluation
3. Identification and Examination
4. Implementation and Examination
(1) 1
@) 2
3) 3
4) 4




@W%%EEW$ADDIE (TSIetaiss) Arsa H uftaull Yss ADDIE & 3feR 1 R E fFad
S

1. FeriepRur 3R Hedie
2. PIaE AR el
3. R SR gdian
4. PO-aT 3R T

@) 1

@ 2

(3) 3

) 4

1[Option ID=16421]
2[Option ID=16422]
3[Option ID=16423]
4[Option ID=16424]

SlI. No.107
QBID:7201007

Students participating in online classes are taught by an instructor. Following the lesson, the instructor intends
to incorporate reading materials (e-content, Power point presentation, ete.) that can be viewed by the students.
What option would instructor choose ?

1. Content creation tools
2. Networking tools
3. Learning Management System (LMS)
4. Links of the websites
1) 1
(2) 2
3) 3
(4) 4

SHHETEA BT T YN @ 38 (Gl &1 Ue Sxie 9gldl §| I8 & S8 SN Us--aradl (e-avg
I, UTeR Wige Wi 311e) 39 S5=g Y e Bral ¢ o [aendi g9 sfaciio &2 9| 59 i
NP BI-H [dhed 1 904 ST

1. favgasg A0 SuaRo
2. FeafdhT FuHu
3. TTH WEY= YoIdl (UeUHUe)
4. 49UECH & oI
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16425]
2[Option ID=16426]
3[Option ID=16427]
4[Option ID=16428]

Sl. No.108
QBID:7201008

Which of the following does not come under primary laws of learning 7

1. Law of effect
2. Law of Readiness
3. Law of Multiple response
4. Law of exercise
(1) 1
(2) 2
(3) 3
(4) 4

fafeiRad H ®1H-11 Faw siftrm o wrfiie Fawt & sidd Tl sirdre?

. WHTG @1

. dRdl &1 FaH

.98 UgR &1 a0
4. W &1 g9

11

(2) 2

3) 3

Ld kg




4) 4

1[Option ID=16429]
2[Option ID=16430]
3[Option ID=16431]
4[Option ID=16432]

Sl. No.109
QBID:7201009

Given below are two statements :
Statement I : Project method is best associated with the Philosophy of John Dewey.

Statement II : The strength of Project method lies in social participation.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I 1s correct but Statement II is incorrect.
4, Statement I is incorrect but statement II is correct.
(1) 1
2) 2
(3) 3
(4) 4

i & PeA fRu MY §:

B 1 ; UG faft ST 3dt & oA & walfie w0 § Sefia B

B 11 - URETerT fafty 31 e s ufaawnfiar # fFARa g

SIRIE DY & el 1, i f3U 7Y fapeul 8 1 a8 Iugad 3R &1 90 Hifoig:

HYFTI AR NS Tl & |
PYT IR EH TTEd ¢ |
P R, A S 1 ea © |
. PYT T &, AfT PUT I IS © |

1) 1
(2) 2
3) 3
(4) 4

[ S

NS Y

1[Option ID=16433]
2[Option ID=16434]
3[Option ID=16435]
4[Option ID=16436]

Sl. No.110
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For Undergraduate educational programmes, courses on SWAYAM Platform have been developed by :

A NPTEL

B. IIM Ahmedabad
C. AICTE

D. CEC

E. IIM Bangalore
F.UGC

Choose the most appropriate answer from the options given below :

A, C.Dand E Only

.B.D, and F Only
3.A.D.E and F Only
4, C,E and F Only

(1) 1

(2) 2

3) 3

(4) 4

| SR




qﬁgmm Qferes SricH! & T W9 (sSwAYAM) R Yeifire TR 3R 9reusd feas gr1 faefia g
el

A TR T
B. 35 3MSUH, SEHSEG
C. TS

D. dedt
E. 3G UH, SR

F. fg.31.3Mm.
4 fqu e fosetl § O 9a Sugad SR &1 997 SIfE:

1.%ad A, C,D ARE
2. $TAB, D 3R F
3.PaAA, D.E IR F
4. HAAC, E IR F

11
(2) 2
(3) 3
(4) 4

1[Option ID=16437]
2[Option ID=16438]
3[Option ID=16439]
4[Option ID=16440]

Sl. No.111
QBID:7201011

While reading research paper or research reports, often one comes across the abbreviation 'viz', which means

1. for example
2. namely
3. against
4. refer to
1) 1
(2) 2
(3) 3
(4) 4

ST 3fTeig 11 9iTe Widder (RUId) Ued T Urd: Tfeier iz 3l g, 39! 3 &

1. SeeRonyf
2. AT/ 3UTT
3. % [d%%
4. e
1) 1
() 2
3) 3
(4) 4
1[Option ID=16441]
2[Option ID=16442]

3[Option ID=16443]
4[Option ID=16444]

Sl. No.112
QBID:7201012

A student submits Ph.D. thesis in a university. Upon scrutiny, it is found that his/her thesis has a similarity
content of 35%. This would fall in which of the following categories of plagiarism according to UGC

regulations ?

.Level 0

.Level 1
3. Level 2
4. Level 3

1) 1

(2) 2

(3) 3

(4) 4

[




o fgenef ue foyfaenes & s d.ue 2. Sty vdy oHT el 8 | 9% Y UeY & Adlen &3 )
IS [a9Iaw] & 35% U H YER=YA1 UTg, Sl © | fayfaeTers sra Sman & fafaul & R
Frafaiad # 9 gg aifee 9k & g TR H oi1al 82

LEKRO
LS
IR 2
XX 3
1) 1
) 2
(3) 3
(4) 4

S

1[Option ID=16445]
2[Option ID=16446]
3[Option ID=16447]
4[Option ID=16448]

Sl. No.113
QBID:7201013

The part of research paper that gives an overview of the field to be investigated and the investigator's
hypotheses about the research outcome, is called

1. Abstract
2. Introduction
3. Results
4, Method
(1) 1
(2) 2
(3) 3
(4) 4

1Y 3TCRd I g Y fores 2y & fawe & &1 fagmaare- SR 2 & sy & IR § 399 &I
IRGTIS BT Feuid bl S €, 39 BT Sl &:

R
TRATaAl
TR
fafer
1) 1

(2) 2

3) 3

(4) 4

e

1[Option ID=16449]
2[Option ID=16450]
3[Option ID=16451]
4[Option ID=16452]

Sl. No.114
QBID:7201014

A study in which a group of participants is observed and measured over a period of time, refers to

1. Longitudinal Research
2. Archival Research
3. Cross-sectional Research
4. Correlational Research
(1) 1
(2) 2
3) 3
(4) 4

U 3y forad Uiyl & Ue g &1 Us o1 faiy & Uafor 3R A9 61 SfTdl 5, 39 Sel oidl o

1. 3y Ty
2. R 9y
3. R MY
4. g ey iy

1) 1

(2) 2

3) 3

(4) 4




1[Option ID=16453]
2[Option ID=16454]
3[Option ID=16455]
4[Option ID=16456]

Sl. No.115
QBID:7201015

Given below are two statements :

Statement I : In case of qualitative phenomena, we have data on the basis of presence or absence of an
attribute or more than one atfribute.

Statement IT : With such data as mentioned in Statement I above the sampling distribution may take the form
of a Binomial probability distribution.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement 1T is true,

(1) 1

(2) 2

(3) 3

4) 4

T S P fey U §:

DY 1 : OIS IRYCH & TPId/HH 1, 69 U T1 U T 3ifeIe [q=Iwarsil/aafon o1 SufRfd sryar
ORI F 3MUR IR s Tufed B=d 8

FYA 11 : S9dad Sy 1 Sfeaiad st &1 widex faavur fgudia Wikl faavur & w9 @ 51 9al o
IR DU & 3Tdid J A 4T U [adhedl § 9 el 3TR &1 98- S I1olu:

PYT IR IS TTE |

L PYF I RIS ST T |

YT 1 A . A DU 11 HTI R |
PYT IS, AT FUT I TA R |
@) 1

() 2

(3) 3

(4) 4

[ SR

NS Y

1[Option ID=16457]
2[Option ID=16458]
3[Option ID=16459]
4[Option ID=16460]

Sl. No.116
QBID:7201016

Every society, because of communication, reflects a sense of to most extent.

. Commonality
. Doubt

. Indifference

. Animus

1) 1

(2) 2

(3) 3

(4) 4

YD HTS HUNU[ & PRUI §gd 84 AP &1 U1 I Uiafafad SRl g |

1. gTHdr

R

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=16461]
2[Option ID=16462]
3[Option ID=16463]
4[Option ID=16464]

Sl. No.117
QBID:7201017

On the negative side, communicative language is used to :

A Extend democratic debates
B. Suppress truth

C. Divide the society

D. Permeate ethnocentrism

E. Support global peace efforts

Choose the correct answer from the options given below :

1. A, B, C Only
2.B.C.D Only
3.C.D.E Only
4.A.C,E Only

(1) 1

2) 2

(3) 3

(4) 4

TPRIAD T& 1 G0 B ol SHNUIT YIS BT TGHT fHaT ST &

A, A diE® arg-faarg &1 9gH & ey
B. I &1 g5 H- & [eU

C. JHIS Bl gic- & ol

D. WoTlfd--4 14l &1 GRAHd S & o
E. 9f¥e wifa varal & gudfa & fod

= fag T fawedi & § 8 SR I
1.$add A, B, C

1[Option ID=16465]
2[Option ID=16466]
3[Option ID=16467]
4[Option ID=16468]

Sl. No.118
QBID:7201018

Given below are two statements :

Statement I ;: Communication, culture and power are inter-related.

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement 11 is false.
4. Statement I is false but Statement 1T 1s true.

(1) 1

@) 2

(3) 3

(4) 4

Statement 11 : Socio-cultural values when communicated do not have any weightage of power.

In the light of the above statements, choose the correct answer from the options given below :




FR S s RumE:

HYA I - HYUNUT, TSI AR Wied ofa: Hafed gid 3

FYA 11 : TUNT & GYTT FHID-HP 0% Jedl B iad BT DIy do Tel 36 ol o
SWRIF PYA $ 3faiP 1, i 30 1Y fawedl § T wet SR o1 997 Pifoie:

1L FEIARNIA 9IS |
2. FYF I AR IS ST |
3. PYT 1 Id ©, A HYUT I 3T E |
4. U TG, AT HUH I I E |
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16469]
2[Option ID=16470]
3[Option ID=16471]
4[Option ID=16472]

Sl. No.119
QBID:7201019

Modern communication technology has converted words into

A. Atool of equality

B. Time

C. A tool of unwarranted peace
D. Money

E. Power

Choose the correct answer from the options given below :

A, B, C Only

.B. C.D Only
3.C.D.E Only
4.B.D.E Only

(1) 1

2) 2

(3) 3

(4) 4

e} TR UITe! 3 Wegi &1 Juikaldd o a1 g

A AN S IRA S I H

B. 9qg

C. 3TOfa wifd o1 gigd & =u d
D.YHH=gH

E.fdd s =ud

g feu T famedl 8 O 98! 3R &l 904 Bl

1.$ad A, B, C
2.$ddB,C, D
3. %90 C,D,E
4. $ddB,D.E

@ 1

(2) 2

3) 3

(4) 4

b=

1[Option ID=16473]
2[Option ID=16474]
3[Option ID=16475]
4[Option ID=16476]

Sl. No.120
QBID:7201020




Given below are two statements :
Statement I : The semantic code in communication deals with character and characterisation.

Statement II : Roland Barthes describes this code as the voice of the person.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement I are true.

2. Both Statement I and Statement I are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I is false but Statement I is true.

1) 1
) 2
(3) 3
(4) 4

TR APy R E

FYF 1 : TN F 312 BT pe ur SR FEm @ Tefia s e

B 11 - T a1 A 59 Foe Bl cafad ST AT B AJ A T

SIS HYA & 3Mdiie 1, 19 [3U e fasedl & T T8t STk &1 997 SifE:

PYT IR ISA TIE |

DY 13RI ST T |

PYT I I €, AT PYT I TR |
PYT IS, AT FU I T ® |
@) 1

() 2

(3) 3

4) 4

[ SR

e L

1[Option ID=16477]
2[Option ID=16478]
3[Option ID=16479]
4[Option ID=16480]

Sl. No.121
QBID:7201021

A shopkeeper purchases a packet of 60 pens at Rs. 10 per pen. He sells a part of the packet at a profit of 40%.
On the remaining part, he bears a loss of 20%. If his overall profit on the whole packet is 20% of , find the
number of pens he sold at profit.

b=
b L e
[ i ]

e ta
[

(1) 1
(2) 2
(3) 3
(4) 4

TS GPMER 10 $IT Ui HAH DI & ¥ 60 FH & T Uebe DI GRIGdl ¢ | T8 Tde & Td YR D 40%
@ T RS 6 | T YT R S 20% S 811 eidl 81 Ufe 39 Frguf Ude 1R oo a1 20% il &, a9
B B a6 T I1d B IuTY ford I8 Y R =1 5 |

1.40
2.30
.20
35

IS Y

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16481]
2[Option ID=16482]

3[Option ID=16483]
4[Option ID=16484]

Sl. No.122
QBID:7201022




A batsman scored 98 runs in his 17th match . As a result his average runs per match increased by 2.5. What

was his average before playing 17 match ?

b =
o L
= 0o D Ln
Lh Lh Ln Lh

e 2
o Ln

(1) 1
(2) 2
(3) 3
(4) 4

% geiar (fhdbe faarel) 170 Ta 1 98 ¥ §-11d1 ¢ | S9% IR0 WY 3% Hiadg siga T H 2.5
H B 3l gl Wil g1 df 1731 B9 @a- & Jod 9P 3i9d fa-T U1

b2 =
L

oh L Oy
= 00 O Lh
Lh Lh Lh La

N IS

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16485]
2[Option ID=16486]

3[Option ID=16487]
4[Option ID=16488]

Sl. No.123
QBID:7201023

Water level of a river increases and decreases by 10% on alternate days in the rainy season. What shall be the
increase or decrease in the water level at the end of second day, as compared to the initial water level 7

1. 1% of increase
2. 1% decrease
3. 1.5% increase
4. 1.5% decrease

(1) 1

2) 2

(3) 3

(4) 4

IuHG & THY U ol & deraR § U e 10% D1 9iG Bl & Td g3 8 10% Bt it gl 5 | SiRfiia
SR P gl H R 141 3 3fd H Sierea” H foba Uided &1 i siyal Sl g simesit?

1[Option ID=16489]
2[Option ID=16490]
3[Option ID=16491]
4[Option ID=16492]

Sl. No.124
QBID:7201024

There are two numbers such that the sum of twice the first number and thrice the 299 number is 39. Also the
sum of thrice the first number and twice the 2nd number is 36, The largest of the two numbers is ?

.21
A5

i S

.6
1) 1
(2) 2
3) 3
(4) 4




<1 A0 38 TR 1 R © o vy e & ST SR gIR1 8 & [OT 1 g 39 § Ul geel! FEA
& [P IR ORI %A1 & G &1 91 36 81 a1 Gwsl 0 9 a1 ge o H-d1 62

S

L

N 51

.6

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=16493]
2[Option ID=16494]

3[Option ID=16495]
4[Option ID=16496]

Sl. No.125
QBID:7201025

If SEARCH is coded as 214673 and CHART is coded as 73465, then what will be the code for TEACHER. ?

. 5147316

.5174136
3.5143716
4. 5413716

1)1

(2) 2

3) 3

(4) 4

3% SEARCH ®1214673 & T T Peas (1 0T § SR CHART B 73465 S U T Peds [paT T 5
€ TEACHER ! [ ¥ 8 I eds [odl e

b2 =

1. 5147316
2.5174136
3.5143716
4, 5413716

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16497]
2[Option ID=16498]
3[Option ID=16499]
4[Option ID=16500]

Sl. No.126
QBID:7201026

"Today on average we can look forward to a longer life span than the generation before us. It is obvious that it
has been possible only and only because of the millions of dedicated doctors who have ensured our good
health". Identity the fallacy committee in the above argument from the following options ?

. Hasty Generation

. False Cause

. Slippery slope

Appeal to unqualified authority

e

1) 1
) 2

3) 3

) 4

ATHIO: 315 §H 310 9d UGl 1 30a ddl Siia=-2iafe &1 YN $% 96d g | 98 ¥ § (& Ud dad
ol gHid STaeRl & SR GHA g3 § | [orgi- AR Sfes Wl &1 gHiad fFarg | Sudad as 4
frafafad faeed! O b 319 &1 ugdH Sifo |

1. tfa=nied FrdisRo
2. TR
3. fop e WauT
4. 3G UIYHR A8
@ 1
@ 2
(3) 3




4) 4

1[Option ID=16501]
2[Option ID=16502]
3[Option ID=16503]
4[Option ID=16504]

Sl. No.127
QBID:7201027

If the statement "All cricketers are rich persons’ is given as true which of the following statements can be
inferred to be false ?

A. No cricketers are rich persons.

B. Some cricketers are rich persons.

C. Some cricketers are not rich persons.
D. Some rich persons are cricketers.

Choose the correct answer from the options given below :

1.B and C Only
2. Aand C Only
3.B and D Only
4. A.B and C Ounly
1) 1
(2) 2
3) 3
4) 4

gﬁ:fmﬂ'“ﬂﬁtwﬁwﬁ%l"ﬂﬁ%ﬁﬁﬁ%ﬁaﬂﬁﬁﬁﬂ-mﬁwum 3T fepan ot Feval
I

A PTS fobdhex o aafdd el g
B.$® haex il Al g |
C. TS fhdbex ot Al g 5
D. T ¢ afad e €1

1 feu e faeedl o 9 Hel TR &1 98 dlfeg:

1. HaAB AR C
2. PaAA IR C
. HadB ARD
4. BAAA, B3R C
1) 1
() 2
3) 3
@) a

Lok

1[Option ID=16505]
2[Option ID=16506]
3[Option ID=16507]
4[Option ID=16508]

Sl. No.128
QBID:7201028

Which of the following propositions are so related that they cannot both be true, although they both may be
false ?

A. All football players are rich persons.

B. No football players are rich persons.

C. Some football players are rich persons.

D. Some football players are not rich persons.

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand D Only
3. Cand D Only
4. B and C Only

1)1

(2) 2

3) 3

(4) 4




aﬁmﬂ% ¥ HH-4 giawidl 58 UeR 9 98 Jaldd g [ i 9ol 781 o1 9 o, Jeid d &l Tad ol
|

A 9l Gear fEarst o afda g

B. @15 Peald aare! 4=l aifdd el o

C. $S Peard faars! o fda 51

D. $© peald aars! -l ofdd el gl

=1 feu e fae el o 9 9gl STk &1 98- oifoiu:

1. Had AR B
2. Had A AR D
3.%aac ARD
4. PaAB AR C

1

@) 2

@3) 3

@) a

1[Option ID=16509]
2[Option ID=16510]
3[Option ID=16511]
4[Option ID=16512]

Sl. No.129
QBID:7201029

Which of the following propositions are logically equivalent ?

A. No dogs are aggressive animals.

B. No aggressive animals are dogs.

C. All dogs are non-aggressive.

D. Some dogs are not aggressive animals.

Choose the correct answer from the options given below :

1. C and D Only
2. Aand D Only
3.A,Band C Only
4. B and D Only
1y 1
(2) 2
3) 3
(4) 4

fafeiea § F-3 viawfemt afds < 3 99qe 31

A B T MPTHS THR Tl B
B. 313 it S1pme SR o1 T B
C. It g TR-3m S E

D. $F Tl SHhIHS SI-aR el 5 |

g feu Tu fdoedl 8 O 95! 3R &l 904 B

1.%ad Cc IR D
2. HadA A IR D
3.%ad A, BARC
4. HAAB AR D
1
() 2
(3) 3
(@) 4
1[Option ID=16513]
2[Option ID=16514]

3[Option ID=16515]
4[Option ID=16516]

Sl. No.130
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Given below are two Statements :

Statement I :According to classical Indian school of Logic, namely Nyaya, we ascertain the relation of
universal concomitance between x and y by perceiving that in all cases the presence of x is accompanied by
presence of v, and not perceiving any instances to the contrary.

Statement I : Classical Indian materialists argue that universal relation between two events cannot be
established, there being always a room for doubt about the unobserved cases.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both statement I and Statement IT are false.
3. Statement 1s true but Statement IT 1s false.

4, Statement I is false but Statement II is true.

1) 1
(2) 2
3) 3
(4) 4

19 @ Py fag Mg &

B [ : IR URA TR A7 T P S8R 89 x 3R y P &9 Wiy geafdaar HiEd o
ol Tt waRvi H x B Sufufd & Y y o1 Sufufa g1 8, ofR 5ud fauwda o1 evid T8l B

FYF 11 : URAT YR Hifaeardl ad &d § & [&-a1 al afvaerai & o= adwife Jeay wiftd =gt
fopar o Toar & quife miférd fawal & aR & 9cd Udg of SuaT sidl ol

IRl PY- o 3fTdid J =i U U [ddmedl § 9 el STR &1 98- S Ifolu:

PYF IR ISH TIE |

HYF I AR IS SR |

PYT 1T, AP PYT LTI R |
YT IS, AT FUT I TA© |
1) 1

() 2

(3) 3

(4) 4

[

J S Y

1[Option ID=16517]
2[Option ID=16518]
3[Option ID=16519]
4[Option ID=16520]

Sl. No.131
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Which of the following applications A-C are built on top of open-source digital platforms ?

A, Aadhar
B. Adobe Reader
C. COWIN

Choose the correct answer from the options given below :

1.A.Band C

2. Aand B Only
. B and C Only
. Aand C Only
11

@) 2

(3) 3

4) 4

S ¥V




fafRad AT A-c ¥ 4 ®H-$1H 4 T |id i@y iehid | [ifa fFr gl

A, STER

B. TS| &%
C. Hifdd

i feu e faedl o 9 9el STR &1 98 ol

1.A,B3RC
2. HAA A IRB
3

1[Option ID=16521]
2[Option ID=16522]
3[Option ID=16523]
4[Option ID=16524]

Sl. No.132
QBID:7201032

Given below are two statements :
Statement I : IBM was the most valuable worldwide IT brand in 2022.

Statement IT : TCS and Infosys were the second and the third most valuable Indian brands respectively in the
IT services sector globally in 2022.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II is false

3. Statement I is true but Statement II 1s false
4. Statement I false but Statement IT 1s true

1) 1
(2) 2
3) 3
(4) 4

B RIC A GRS
FYA L : STEaed ay 2022 § 3y R & Faiid ega sac ais o

BT 11 : Y 2022 T Sgcl Sa1af & &3 T fay T TR iR S pIiay Haw: T 3R 1R Faiiue
TeaM sifgel YR §is 31

IRIF FYH & AP 1, A1d 20 70 faHedi O U ol SR $1 940 P I

1L HYEINRII 9T |
2. FYF I AR I AT ST |
3. PYT 1 I 8, Al HYUT 11 3T ¢ |
4. P ITIE, AT P I TS |
1) 1
(2) 2
(3) 3
@) 4
1[Option ID=16525]
2[Option ID=16526]

3[Option ID=16527]
4[Option ID=16528]

Sl. No.133
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Which of the following statements (A-C) are correct with reference to "Software as a Service (SaaS)" in cloud
computing ?

A. 8aa8 users can access their data from any Internet-Connected computer on mobile device.

B. A web-based email service such as Outlook. Hotmail or Yahoo! Mail is a form of SaaS.

C. Saa$ buyers can customize the user interface to change the look and feel of the software, as well as
modify specific areas, such as a data fields.

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand C Only
3. B and C Only
4, A, BandC

(1) 1

) 2

(3) 3

(4) 4

FA3S D[S H WUHEGUR Uel U AIdH (A1) & e d FufafEd oyl 8 4 ©H-51 3 ©ud 961 82

A. T W $e3-e U O[S fardl ol Ser siyal HiaTsd 3UshRUl U 30 Sel ad Ugd 9ahd o

B. 33CA®, Slchd 1l dTg Ud ol da M1e1Rd 3Hd Ul 91 &1 UH EU g |

C. T Sl VTR &1 =4 R srHfa afkafda @ iR Ser &3 o fafdy & &1 wuiafa &
& o vTa SIqRTgE Bl ST SIS araR &1 9&d § |

14 feu e fasedl o 9 Hel TR &1 98 dlfeg:

1[Option ID=16529]
2[Option ID=16530]
3[Option ID=16531]
4[Option ID=16532]

Sl. No.134
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Which of the following communication technologies A-C are considered as short-range devices/technologies ?

A CCTV
B.RFID
C. WLAN

Choose the correct answer from the options given below :

1. A and B Only
2. Aand C Only
.B and C Only
A BandC
(1) 1

(2) 2

3) 3

(4) 4

NE ]
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A A
B. IRUGSZ S
C. SEgTaTe

i feu e faedl o 9 9el STR &1 98 ol

1. $ad A IRB
2. PaAA IR C
. FHadB AR C
4.A,B3RC

(1) 1
) 2
(3) 3
(4) 4

Lok

1[Option ID=16533]
2[Option ID=16534]
3[Option ID=16535]
4[Option ID=16536]

Sl. No.135
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In India, the term "Public Key Infrastructure” is used in the context of

1. Digital security infrastructure
2. Food security infrastructure
3. Health care and education infrastructure
4. Telecommunication and transportation infrastructure
(1) 1
@) 2
3) 3
4) 4

%ﬂ?ﬁﬁ'@ﬁfﬁlﬁﬁﬂ%ﬁfiﬂf ST (U1 31 S3prgaR) Fafarad & fegd S5 1 vam foar s

. ST GRE AR

. Tl GR&TT ST

. XGTR SEHTS T TI&HT SR
R YER 3R URae el
1) 1

() 2

3) 3

) 4

O

1[Option ID=16537]
2[Option ID=16538]
3[Option ID=16539]
4[Option ID=16540]
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What is the correct sequence of steps in Risk assessment related to environmental hazards 7

A Risk characterization
B. Exposure assessment
C. Hazard Identification
D. Risk Management

Choose the correct answer from the options given below :

1.C,B.A,D
5

Bp0
By
O w W
vl

e L

(1) 1
) 2
(3) 3
(4) 4
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A SIRaF a2l
B. 3GHA Hedid+
C. G}l ©1 Ugd
D. SIRgH ue e
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1
2
)
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16541]
2[Option ID=16542]

3[Option ID=16543]
4[Option ID=16544]
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National Solar Mission, one of the missions of National Action Plan on Climate Change (NAPCC) waz
launched in the year

2009
2010
. 2011
= 2012
(1) 1
(2) 2
(3) 3
4) 4

ATy uiad-1 Jadt AP B e (e @ TR E 8 e g 9 inm o e T 9 feg ad
HATRY feoa T T

R

da Lo

2009
.2010
. 2011
.2012
(1) 1
) 2
3) 3
(4) 4

e S

1[Option ID=16545]
2[Option ID=16546]
3[Option ID=16547]
4[Option ID=16548]

Sl. No.138
QBID:7201038

Which one of the following has contributed maximum in sea level rise so far in the context of climate change ?

1. Melting of Antarctic Ice-sheets
2. Melting of Glaciers
3. Thermal expansion of oceanic waters
4. Melting of Greenland Ice sheets
(1) 1
@) 2
3) 3
4) 4
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1) 1
(2) 2
3) 3
(4) 4

(ST S

1[Option ID=16549]
2[Option ID=16550]
3[Option ID=16551]
4[Option ID=16552]

Sl. No.139
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Out of different oxides of nitrogen which of the following are considered as Air Pollutants and known as NOx
o

A.NO (Nitric Oxide)

B. NO, (Nitrogen dioxide)
C. NOj; (Nitrogen trioxide)
D. N,O (Nitrous oxide)

Choose the correct answer from the options given below :

1. Aand B Only
2.B and C Only
3.Cand D Only
4. A.B and D Only
1) 1
@) 2
3) 3
(4) 4

AEgier & fafia srarest # 9 3 3 9 fooeg arg 9y HH1 Sl § 3R No, & &0 J SISl ¢ |

A.NO ([AE[CH HFES)
B. NO, (FECIoH Sl HaES)

C. NO; (-TIECISH T3 aHISS)
D. N,0 (TE¢H HEHES)

1 feu e fasedl H 9 el STR &1 98 Sl

1. $ad A R B
2. $dAB IR C
3.%ad C ARD
4. PdAA, B ARD

M 1

) 2

(3) 3

@) 4

1[Option ID=16553]
2[Option ID=16554]
3[Option ID=16555]
4[Option ID=16556]
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The advantages of biodiesel over conventional petro diesel are :

A, Biodiesel produces significantly lesser CO, and SO,.

B. It is non-renewahle

C. It has higher octane number

D. It can be used in any ratio with petro-diesel
E. It has lower flash point.

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2.B. Cand D Only
3.A, Cand D Only
4. C,D and E Only

(1) 1

@) 2

3) 3

4) 4

URARD UgISIod P SHUET Sig-Siad & =49 8 3 F1-FT 1 82

A. SIa-ST9d BB BH CO, R SO, ITH P g

B. g TR Adiaruiim 2|

C. 3UP! Ao TV SR &

D. 4 Uel Siora & Iy et oft srqura & v fasar o s ar g1
E. 3@ (Y sda-i@ (R @iEe) g

I fau 7t fawedl # 9 9ad Sugad IR &l 99 Sifot:

1.Had A, B IR C
2. %adB, C IRD
3.%add A, C ARD
4.%AAC, D IRE

@) 1

) 2

3) 3

@) 4

1[Option ID=16557]
2[Option ID=16558]
3[Option ID=16559]
4[Option ID=16560]

Sl. No.141
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Which of the following names of technology platforms has been mentioned in NEP-2020 through which
online training of teachers will be encouraged ?

A SWAYAM
B. AYUSH
C. PARAKH
D. DIKSHA
E.NIT

Choose the correct answer from the options given below :

1.B and C Ouly
2. Aand D Only
3.A, Cand D Only
4. A, B and E Only
1) 1
(2) 2
3) 3
4) 4
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B. 31gY
C. 99
D. dl&f

E. T35
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1. HadB AR C
2. HaAAIRD
3.%ad A, C ARD
4. HAAA, B 3IRE
1
2 2
3) 3
(@) 4
1[Option ID=16561]
2[Option ID=16562]

3[Option ID=16563]
4[Option ID=16564]
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QBID:7201042

In 1904, Curzon was the moving force behind the enactment of the Indian University Act which intended to
introduce radical changes into which of the following universities :

A. Calcutta

B. Bombay

C. Madras

D. Punjab (in Lahore)
E. Allahabad

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2.C.Dand E Only
3.A.C.Dand E Only
4 A B.C.,DandE

1) 1

(2) 2

3) 3

(4) 4

a9 1004 H yRe fayfaemey sifafoa & sfifoaa & fog Seomerd $o- o1 g 3eeg Fafafaa
o fayfarmerdl & Smae-ga uRad-i &1 YB3 BRAT U2

A. TaDl
B.dld
C. HalH
D. GolTs (T6R )
E. galgraa
i f4u U fasetl § 9 998 Sugdd STk &1 94 Bifoig:

1. $IAA, B HRC
2.%aAC, D ARE
3.$aA A, C,D HRE
4.A,B.C,D3RE

@ 1

) 2

3) 3

) 4

1[Option ID=16565]
2[Option ID=16566]
3[Option ID=16567]
4[Option ID=16568]
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Given below are two statements :
Statement I : UGC is a central government organization established by an Act of Parliament in 1956.

Statement IT : UGC has established five regional centres in order to ensure proper functioning.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but statement IT is correct.
(1) 1
@) 2
3) 3
(4) 4

APy Ry E

B 1 goid], 1956 T T8 T ST gR1 RS 601 701 U 39 TRBRI 184 5
FYF 11 - gt = TEfd SareH &t 9T $33 & o0 8 ol a5ty sl o wifd e g
SWRIGd DY & 3Tedep 1, =i 3T 7Y faspeui § I a8 Iugad 3R &1 90 Bifolg:

P I AR NS T8I & |
P AR IS T & |
L PUYTITE g, AfPT Py Ted € |
 PYTITTod &, AfbT FYUT I IS § |

1)1
(2) 2
(3) 3
(4) 4

N

1[Option ID=16569]
2[Option ID=16570]
3[Option ID=16571]
4[Option ID=16572]

Sl. No.144
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Ministry of Environment and Forests, Govt. of India with the help of centre for Environment Education
(CEE). launched a National Environmental Awareness campaign (NEAC) in 1986 to increase
awareness about the environment in various target groups in the country.

1. Chennai
2. Ahmedabad
3. Delhi
4, Hyderabad
1) 1
(2) 2
3) 3
(4) 4

URA WHR & GAIaR0I Ud 9 HA1ad - TaiaR0l fRI&1 3q dx (Hig) B gEEd g S |
fafde aféd THgl & Heg uaiaRul & aR & GReddl § gig od a4 1986 H AP GAIaRUIG SRRl
ST T (TR U 1 e ed &1

1. 995
2. 3EHEETE
3. et
4. SXETE
1) 1
() 2
(3) 3
(4) 4

1[Option ID=16573]
2[Option ID=16574]
3[Option ID=16575]
4[Option ID=16576]




Sl. No.145
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Which of the following is an important archacological site declared by UNESCO as a world Heritage site in
19807

1. Takshshila
2. Mithila

3. Vallabhi
4. Nalanda
(1) 1

(2) 2

(3) 3

(4) 4

FaAfaRed O ¥ ©1F Ue He@yul RIdiias e ¢ [oe! g gR1ay 1980 T @y eRIg R/ iftd
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(1) 1

(2) 2

(3) 3

(4) 4

L

1[Option ID=16577]
2[Option ID=16578]
3[Option ID=16579]
4[Option ID=16580]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

+ Mesopotamia - the valleys of the Tigris and Euphrates rivers
+ The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

fofafad e o ufgu ok vy @1 SR g
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« TICTET - geter SR PRid el @t arieai
o T e it
. Ry =t s fgr &

91 1 YHe SRR 87 & ga-111e, 99 Bi al 441 91cT, & qd uikian sk sRie] I Wesl §14aiy
3o id g3 | 59 VPR Ugd Wl &1 T&: S &A1 § f1fauia g fore 24Tl Tasigsi T Sirdl 2 |
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Based on the information given in the passage, arrange the following events in correct chronological order.

A. Emergence of the first cities

B. Neolithic Revolution

C. Invention of writing

D. The Minoan civilisation cities which flourished in Crete

Choose the correct answer from the options given below :

A B, C,D

1.
2
3.
4.

Hoaw:
PEOl
NBWY
oo >

(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=16581]
2[Option ID=16582]
3[Option ID=16583]
4[Option ID=16584]
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Read the following passage and answer the question.

Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

+ Mesopotamia - the valleys of the Tigris and Euphrates rivers
* The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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The term LICs in the passage most likely represents

1. Lower Indo-China

2. Later Indus and China
3. Low Income Countries
4, Laos India and China
(1) 1

(2) 2

(3) 3

(4) 4

TN B Ugad Ue uasiesl & e 8 3 gaffte Syada e weffa srare 2

1. AR sSR!

2. e SSU U 9Bl

3. W ST H Dol

4. TS SIS TS 9151
(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=16585]

2[Option ID=16586]

3[Option ID=16587]
4[Option ID=16588]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

+ Mesopotamia - the valleys of the Tigris and Euphrates rivers
+ The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Which major development led to the transformation of villages in the plains between Euphrates and Tigris,
into urban centres ?

1. The Emergence of wheeled cart
2. Neolithic Revelution
3. Metallurgy
4, Invention of Writing

1)1

(2) 2

(3) 3

(4) 4
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(2) 2
3) 3
(4) 4




1[Option ID=16589]
2[Option ID=16590]
3[Option ID=16591]
4[Option ID=16592]
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Read the following passage and answer the question.

Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

+ Mesopotamia - the valleys of the Tigris and Euphrates rivers
+ The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Arrange the following places where urban centres developed, in correct chronological order.

A Greece

B. Crete

C. Rome

D. The plains of river Indus

Choose the correct answer from the options given below :

1.D,B.A,C
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1) 1
(2) 2
(3) 3
(4) 4
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(1) 1
(2) 2
3) 3
4) 4
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2[Option ID=16594]

3[Option ID=16595]
4[Option ID=16596]

Sl. No.150
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Read the following passage and answer the question.

Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

+ Mesopotamia - the valleys of the Tigris and Euphrates rivers
* The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Given below are two statements :
Statement I : Urban centres in China developed before they developed in the plains of Indus river.

Statement II : Trading centres developed much later than the first cities.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false
4. Statement I is false but Statement II is true

1) 1
(2) 2
(3) 3
(4) 4
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